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Q.1 Consider the statement in regard 'KAPILA' Campaign.
1. This is a campaign for Intellectual Property Literacy and Awareness campaign which

was organised on the 89th birth anniversary of former President Late Dr. APJ Abdul
Kalam.

2. This is a campaign for collection, demonstration and documentation of raw drugs
from Southern Plateau region.

Select the correct answer by using the code mentioned below.
Ans x 1. Neither 1 nor 2

£5 2.0nly 2
W 3.0nly 1

#% 4.1and 2 both

Question ID : 6009293574
Status : Not Answered
Chosen Option : --

Q.2 Who has been elected as the non-executive chairman of India bulls Housing Finance
in August 20207

Ans X" 1. B.P. Kanungo
x 2. K.K. Venugopal
J 3. S.S. Mundra

5 4. MK Jain

Question ID : 6009293563
Status : Answered
Chosen Option : 1

Q.3 How many Chinese apps had been banned by the government of India in June 2020
due to their activities which were prejudicial to sovereignty and integrity of India?

Ans  of 1 59
5 2.51
/5 3.53
/5 4.58

Question ID : 6009293557
Status : Answered
Chosen Option : 2
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Q.4 Consider the following statement in the context of Deendayal Antyodaya Yojana -
National Rural Livelihoods Mission.

1. It is a centrally sponsored programme that aims at eliminating rural poverty through
promotion of multiple livelihoods for the rural poor households across the country.
2. The Union Cabinet has approved a special package worth Rs. 820 crore for Union
Territories of Jammu and Kashmir and Ladakh for a period of five years till 2023-24.

Select the correct answer from the options given below.
Ans " 1. Only 2

#% 2.1and 2 both
x 3. Neither 1 nor 2

W 4. 0nly 1

Question ID : 6009293567
Status : Answered
Chosen Option : 2

Q.5 SVANidhi Yojana is a scheme which has been launched by Hon'ble Prime minister to.
1. To grant collateral-free loans of up to Rs 10,000 to street vendors across the
country.

2. To provide grant to fulfill the nutritional demands of women and children in the
country.
3. This scheme was launched on June 1, 2020.

Select the correct answer by using the code mentioned below.
Ans 3" 1. None of the above

o 2.Only 1and 3
#5 3.0nly2and3
< 4.0nly 1and 2

Question ID : 6009293569
Status : Answered
Chosen Option : 2

Q.6 Which app has been launched by Kiren Rijiju in June 2020 to keep Indian athletes
updated about banned substances?

Ans  of 1 NADA INDIA
75 2. NADA BHARAT
/% 3. NADA INDIAN
75 4. INDIAN NADA

Question ID : 6009293556
Status : Answered
Chosen Option : 1

Q.7 Which institution collaborated with the Bureau of Indian Standards for cooperation in
the areas of standardization and conformity assessment in August 20207

Ans 3 1_IIT Bombay
o 2. 1T Roorkee
< 3.1IT Madras

x 4. IT Kanpur

Question ID : 6009293560
Status : Not Answered
Chosen Option : --
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Q.8 Consider the statement in context of CMS-01.
1. It is a communication satellite which is launched by PSLV-C50 from the Satish
Dhawan Space Centre (SDSC) SHAR, Sriharikota.
2. It is a project which aims to monitor, track and protect space assets of India.

Select the correct answer by using the code mentioned below.
Ans  of 1 Only 1

#% 2.1and 2 both

75 3.0nly 2

x 4. Neither 1 nor 2

Question ID : 6009293572
Status : Answered
Chosen Option : 2

Q.9 Bharat Parv is a five-day annual event that celebrates the spirit of India is being
organised virtually from January 26, 2021 till January 31, 2021. Which of the following
statements is/are NOT correct regarding the event?

1. It was started in the year 2016.

2. This year the event was inaugurated by the Lok Sabha Speaker Om Birla.

3. The Central theme of this year’s Bharat Parv is ‘Mera Desh Badal Raha Hai, Aage
Badh Raha Hai'

4. The event is organized by the Ministry of defence every year
Select the correct answer using the code given below.

(A) 1 only

(B) 2 only

(C)3and 4

(D) 2 and 3 only

Ans X1 A
voc
K 3B
4D

Question ID : 6009293570
Status : Not Answered
Chosen Option : --

Q.10 In June 2019, The Indian Air Force has signed a deal with the Israeli government to
buy as many as 100 SPICE bombs worth:

Ans X" 1. Rs. 100 crore
75 2. Rs. 400 crore
( 3. Rs. 300 crore

x 4. Rs. 200 crore

Question ID : 6009293562
Status : Answered
Chosen Option : 4

Q.11 Which of the following Union ministry won the SKOCH Gold Award 2020?
Ans x 1. Ministry of Women and Child Development

x 2. Ministry of Health and Family Welfare
x 3. Ministry of Textiles

of 4. Ministry of Tribal Affairs

Question ID : 6009293555
Status : Answered
Chosen Option : 4
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Q.12 Consider the statement in regard of Aditya Mehta.
1. Aditya Mehta defeated multiple-time world champion Pankaj Advani 6-2 to win the
National Snooker Championship.
2. Aditya Mehta represented the Petroleum Sports Promotion Board (PSPB).

Select the correct answer by using the code mentioned below.
Ans X" 1. Neither 1 nor 2

< 2.0nly2
#5 3.0nly 1

o 4. 1and 2 both

Question ID : 6009293573
Status : Not Answered
Chosen Option : --

Q.13 Consider the following statement in the context of Padma Award 2021.

1. Padma awards are given in three categories, namely, Padma Vibhushan, Padma
Bhushan and Padma Shri.

2. Shri Shinzo Abe from Japan is awarded with Padma Bhushan for his contribution in
the field of Public Affairs.

3. 7 were awarded the Padma Vibhushan, 10 named for the Padma Bhushan and 102
named for Padma Shri.

Select the correct answer by using the code mentioned below.

Ans & 1 Only 1and 2
o 2. Only 1and 3
#% 3.0nly2and 3

x 4. None of the above

Question ID : 6009293565
Status : Answered
Chosen Option : 2

Q.14 Consider the statement in regard of Wavel Ramkalawan.

1. He has won Seychelles’ presidential election.
2. He has won the Ramanujan Prize for Mathematicians for the year 2020.

Select the correct answer by using the code mentioned below.
Ans  of 1 Only 1

x 2. Neither 1 nor 2

x 3.0nly 2

< 4.1and 2 both

Question ID : 6009293566
Status : Not Answered
Chosen Option : --
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Q.15 What is Sarna Code? Consider the following statement in this regard.
1. The Jharkhand Assembly has unanimously passed a resolution seeking the
inclusion of Sarna as a separate religion in Census, 2021.
2. The opposition parties gave a proposal demanding a discussion on the resolution,
which was rejected by assembly speaker.

Select the correct answer by using the code mentioned below.
Ans X" 1.1 and 2 both

x 2. Neither 1 nor 2
W 3.0nly 1
75 4.0nly 2

Question ID : 6009293571
Status : Not Answered
Chosen Option : --

Q.16 On 21st January 2021, Gujarat Chief Minister Vijay Rupani announced the “Horticulture
Development Mission” in the state with an aim:

1. to double the income of the farmers involved in horticulture and medicinal farming
2. to provide waste land of the state government on 45 year lease for forming of
horticulture and medicinal crops

3. to cover 7 districts of the state as the part of first phase

Select the correct answer using the code given below.
(A) 1 only
(B) 2 only

(C) 3 only
(D) Both 1 and 2

Ans X' 1D
K 2.B
Ko3c
o 2 A

Question ID : 6009293568
Status : Answered
Chosen Option : 4

Q.17 Which country has become the first African country to submit the results of Reducing
Emissions from Deforestation and Forest Degradation (REDD+) to UNFCCC?

Ans & 1. Burundi

x 2. Algeria

x 3. Cameroon

« 4. Uganda

Question ID : 6009293558
Status : Not Answered
Chosen Option : --

Q.18 Who has been reappointed as solicitor general of India in July 2020?
Ans x 1. N Venkataraman

/5 2.RS. Suri

« 3. Tushar Mehta

75 4. Balbir Singh

Question ID : 6009293559
Status : Answered
Chosen Option : 1
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Q.19 Prime Minister Narendra Modi was honored with which award in 2019 by Bill and
Melinda Gates Foundation for his leadership and commitment to improve access to
sanitation in India?

Ans X 1. Seoul Peace Prize
x 2. Champions of the Earth Award
75 3. Philip Kotler Presidential Award

“ 4. Global Goalkeeper Award

Question ID : 6009293564
Status : Answered
Chosen Option : 4

Q.20 The Rockefeller Foundation announced 10 finalists for the Food System Vision 2050
Prize in August 2020. Among them how many finalists were selected from India?

Ans X' 1.4
W22
<031
K43

Question ID : 6009293561
Status : Not Answered
Chosen Option : --

Section : General studies

Q.1 Match List-T with List-IT and select the correct answer using the codes given below the Lists.

List-I (Mahajanapadas) | List-II (Capitals of Mahajanapadas)
A. Malla 1. Taxila

B. Anga 2. Kausambi

C. Gandhara 3. Champa

D. Vatsa 4. Kusinara

Ans X 1. A-2,B-3,C-4,D-1
v 2 A-4,B-3,C-1,D-2
X3 A-3,B-1,C-2,D4
K4 A-1,B-2,C4,D-3

Question ID : 6009293591
Status : Not Answered
Chosen Option : --
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Q.2 Consider the following statements regarding Save Water Day.

1. On 12 July 2019. the West Bengal government observed Save Water Day across the state to spread the message
of water conservation,

2. This was the first-ever Save Water Day observed across West Bengal to spread the message of water conservation.

3. West Bengal has a water conservation programme called TJal Dharo Jal Bharo’ to prevent floods and provide
water during the period of scarcity.

4. The Government of India has set a target to provide 35 lakh households in West Bengal with tap water supply by
March 2021.

Which of the statements given above is/are correct?
Ans 1. Only 1 and 3

/<2 Only 1 and 2

« 3 Only 1,2 and 3

/< 4 Only 2, 3 and 4

Question ID : 6009293593
Status : Not Answered
Chosen Option : --

Q.3 Consider the following statements in reference to the Phylogenetic classification system.
1. It shows an evolutionary relationship between various organisms on the basis of descent from a common ancestor.

2. In this system. the cladistics method is used in generating phylogenetic trees.
3. It was proposed by Swedish Botanist Carolus Linnaeus.

Which of the statements given above is/are correct?

Ans o1 3 only
« 2 1 and 2 only
7< 3 1 only
/< 4 2 only

Question ID : 6009293588
Status : Not Answered
Chosen Option : --

Q.4 Which of the following pair is correct?
1. 1905 — Partition of Bengal

11. 1908 — Split in Congress
1ll. 1919 — Rowlatt Satyagrah

Ans 5 1 land Il

25 2. 1and Il
W 3 1and i
25 4.0, 1and 11l

Question ID : 6009293575
Status : Answered
Chosen Option : 3
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Q.5 As per the Union Budget 2020-21, what will be the implementation period of the
National Technical Textiles Mission?

Ans X" 1 2021-22 to 2023-24
72X 2.2020-21 to 2024-25
o 3.2020-21 t0 2023-24
25 4.2021-22 to 2024-25

Question ID : 6009293582
Status : Not Answered
Chosen Option : --

Q.6 With which of the following musical instruments is Ustad Ali Akbar Khan related to?
Ans J 1. Sarod

/5 2. sitar
#% 3. Tabla
25 4. Violin

Question ID : 6009293580
Status : Not Answered
Chosen Option : --

Q.7 Consider the following statements in reference to Punjab Preservation of Subsoil Water Act, 2009.

1. As per the Act. no farmer shall sow nursery of paddy before 10™ day of May of the agricultural year or such
other date as may be notified by the State Government by notification in the Official Gazette for any local area.

2. Any farmer who contravenes the provisions of this Act shall be liable to a penalty of rupees ten thousand for
every month. or part thereof. per hectare of the land till the period such contravention continues.

3. As per the Act, ‘State government’ means ‘Government of India’,

Which of the statements given above is/are correct?

Ans 1. Only 1 and 3
« 2 Only 1 and 2
/< 3 Only 3
75 4 Only2and 3

Question ID : 6009293594
Status : Not Answered
Chosen Option : --

Q.8 Chenab, the largest tributary of the Indus river, is also known as
Ans X" 1. Bhagirathi

25 2. Kosi

J 3. Chandrabhaga

5 4. Giri

Question ID : 6009293576
Status : Answered
Chosen Option : 3
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Q9 Consider the following statements regarding Khardung La Pass.

1. It is the highest motorable pass in India.
2. Itis the gateway to the Nubra and Shyok Valleys.

3. It is situated to the North of Mount Godwin-Austen.
Which of the statements given above is/are correct?
Ans 1. Only 2 and 3
/< 2. Only 1
75 3 Only2
« 4 Only 1 and 2

Question ID : 6009293590
Status : Answered
Chosen Option : 4

Q.10 Consider the following statements with reference to the Mamallapuram dance festival.

1. It is the celebration of folk dances that are prevailing in various regions of the country.
2. This festival is organised for about ten days in the town of Mahabalipuram.

3. Tales from Mahabharat, Radha Krishna, Valli Muruga, Shiva Shakthi and numerous ancient lore are brought alive through
delicate dance forms.

4. Breath-taking dances are performed in ornamented stage with the historic stone sculptures range ‘the Arjuna Penance’ as
the backdrop.

Which of the statements given above is/are cormect?

Ans 1. Only 1 and 3
752 Only2,3and 4
« 3 Only I, 3 and 4
7< 4 Only1and2

Question ID : 6009293592
Status : Not Answered
Chosen Option : --

Q.11 With which of the following sports is Nikhat Zareen related to?
Ans " 1. Hockey

X 2. Badminton

( 3. Boxing

X 4. Wrestling

Question ID : 6009293579
Status : Not Answered
Chosen Option : --

Q.12 Phawngpui or the Blue Mountain is the highest peak in the state of .
Ans " 1. Uttarakhand

X 2. Kerala
J 3. Mizoram
5 4. Sikkim

Question ID : 6009293585
Status : Answered
Chosen Option : 4
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Q.13 Which among the following soil is commonly used for bricks?
Ans 2 1 Alluvial

J 2. Laterite
75 3. Black
X 4. Peaty

Question ID : 6009293583
Status : Answered
Chosen Option : 1

Q.14 fmfafed e & 3 frae ot & Sror demn gar 2
Ans X 1 B1

 2.83

X 3.D

K 4A

Question ID : 6009293584
Status : Answered
Chosen Option : 2

Q.15 Consider the following statements regarding the Babbar Akali movement during the years 1921-1925.

1. The movement included Guru Sikhs, who were against the imperialist policies of the British Government.
2. Majority of the Babbar Akalis were returned immigrants from Canada.

Which of the statements given above is‘are correct?

Ans X 1. Neither 1 nor 2
« 2 Both 1 and 2
/< 3 Only 2
/< 4 Only 1

Question ID : 6009293586
Status : Not Answered
Chosen Option : --

Q.16 Match List-I with List-IT and select the correct answer using the codes given below the Lists.

List-I (States) | List-II (Sports festivals celebrated in these states)
A. Punjab 1. Indian Derby

B. Gujarat 2. Kila Raipur Sports Festival

C. Kerala 3. International Kite Festival

D. Maharashtra | 4. Champakulam Boat Race

Ans o 1. A-1,B-2, C-4,D-3
X 2. A-4,B-1,C-2,D-3
X3 A-3,B-1,C-2,D-4
v 4 A2, B-3,C-4,D-1

Question ID : 6009293589
Status : Answered
Chosen Option : 4
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Q.17 In which of the following ways can 1 Volt be expressed?
Ans ( 1. 1 Joule per Coulomb

x 2.1 Coulomb per Joule
X 3. 1 Joule-Coulomb

X 4. 1 Joule-Coulomb per second

Question ID : 6009293581
Status : Not Answered
Chosen Option : --

Q.18 Which among the following books is not written by Arundhati Roy?
Ans X" 1. The Algebra of Infinite Justice

X 2. The Ministry of Utmost Happiness
( 3. Once Upon a Time

#% 4. The God of Small Things

Question ID : 6009293577
Status : Answered
Chosen Option : 3

Q.19 Amongst the following, which state celebrates Gangaur festival?
Ans & 1 Karnataka

( 2. Rajasthan

x 3. Goa

X 4. Arunachal Pradesh

Question ID : 6009293578
Status : Answered
Chosen Option : 2

Q.20 Consider the following statements with reference to indirect taxes in Budget 2020.

1. Custom duty was raised on footwear from 25% to 35% and on furnimre goods from 20% to 25%.

Which of the statements given above is/are correct?

Ans X 1. Neither 1 nor 2
/< 2 Only 2
75 3. Only 1
+ 4 Both 1 and 2

2. Basic customs duty on imports of newsprint and light-weighted coated paper was reduced from 10% to 5%.

Question ID : 6009293587
Status : Not Answered
Chosen Option : --

Section : Numerical aptitude

11/31
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Q.1 What is the average of 132, 146, 218, 232, 321 and 2237
Ans " 1 214

W 2212
/< 3.208
54218

Question ID : 6009293608
Status : Answered
Chosen Option : 2

Q.2 Speed of a car is 45 km/hr. How much distance can it travel in 50 seconds?
Ans X" 1.650 metre

X 2. 575 metre
X 3. 550 metre
J 4. 625 metre

Question ID : 6009293611
Status : Answered
Chosen Option : 4

Q.3 Alloy A contains iron and copper in ration 4 : 5. Alloy B contains iron and copper in
ratio 3 : 4. If 45 kg of alloy A and 63 kg of alloy B are mixed, then what is the final ratio
of copper and iron?

Ans  of 16147

/5 2.64:47
#5 3.59:45
54,5741

Question ID : 6009293612
Status : Answered
Chosen Option : 1
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Q.4 Study the following graph to answer the question.

Destination wise pattern of all India Exports (in crore)

8O0 L1800

1800 iiL

1400

America Euwope  Russia  Japan  China  Srilanka
® 2000-2001  #2010-2011

India’s exports to which of the following regions increased most in terms of
percentage between 2000-01 and 2010 — 20117

Ans & 1 Japan
x 2. Russia
/< 3.China
o 4. Europe

Question ID : 6009293606
Status : Answered
Chosen Option : 2

Q.5 Ratio of milk and water in two mixtures A and B is 3 : 2 and 4 : 3 respectively. If A and
B are mixed in the ratio of 1 : 2, then what is the ratio of milk and water in final
mixture?

Ans  of 16144

75 2.51:46
/< 3.63:46
25 4.57:41

Question ID : 6009293610
Status : Answered
Chosen Option : 1

Q6 Wﬁﬁlﬁﬁﬂﬁgﬁﬁﬁﬁaﬁﬂﬁ,wﬁﬁﬁéﬁ?mﬂﬁ [ 5} 3N =T 360
B Sfita fagm &t gead T fage ofv Wifoast 3t gt @t @ | 180 il
g1 Wifes 9 qeae! 3t e i g ok Tare fag 3t as! @ sivd g 3
180 ®H §1 gH M § T fag 3t qeaw! o) wen fra-t 82

Ans & 1540
75 2.480
75 3.420
W 4360

Question ID : 6009293604
Status : Not Answered
Chosen Option : --
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Q.7 If the volume of a room is 1680 m® and the area of the floor is 112 m2. Find the height of
the room.

Ans X1.8m
/5 2.20m
W3 15m
X 4.10m

Question ID : 6009293614
Status : Answered
Chosen Option : 3

Q.8 The pie-chart given below represents the percentage distribution of the number of
eggs sold by a shopkeeper on different days of a week.

Percentage distribution of the number of
eggs sold by a shopkeeper

Tuesday, 8%

Find the ratio of the number of eggs sold by the shopkeeper on Wednesday to that of
the same on Thursday.

Ans 1 47
< 2,49
W 335
K425

Question ID : 6009293605
Status : Answered
Chosen Option : 3
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Q.9 ﬁfwaﬁﬁwgﬁﬁﬁﬁmmaﬁaﬂﬁaﬂmﬁmﬁﬂﬂi%l

fora ad A fibeil 3R yars afml & faswt &) ga wen, dd o1 fas 3 ga g=n A 100

3P g Mg ?

CL| et yers aefe firer et

1996 320 200 220 1500

19497 350 220 150 1700

1098 315 250 200 1300

1999 400 280 150 2000
Ans X" 11997
o 2.19%
75 3.1999
5 4.1998

Question ID : 6009293600
Status : Answered
Chosen Option : 2

Q.10 Ts ATsfhel 1 3ifhd Hed 1500 FUT §, St ARTd Hed & 25 ufrra 31 21 afe 33 10
yfa=rd F ge W 391 91T 8, @ a1 ufaRrd Jd de?

Ans  of 1 1250l
% 2. 20 vfoRd
75 3. 15 TR
25 4. 30 wfo=ra

Question ID : 6009293597
Status : Answered
Chosen Option : 1

Q.11 The ratio of price of a mango and an apple is 3 : 2. If the total price of an apple and a
mango is Rs. 100, then find the price of a mango.

Ans & 1 Rs. 40

o 2. Rs.60
/5 3.Rs. 80
/X 4.Rs.30

Question ID : 6009293599
Status : Answered
Chosen Option : 2

Q12 3] FH) TH FI TR HA F 99 A ST THY T § 3R dg A 9 771 T80 A7am 81
Y & S TH B3 A 3 37 @ &1 i) A B1d B T B & e e T feran @2

Ans X" 1 24 fe
K2 12
X 3.3f
o 2 187

Question ID : 6009293596
Status : Answered
Chosen Option : 4
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Q.13 336, 528 TUT 240 HT TYTH TATITY FIT 2
Ans X 1.16620

25 2.17240
5 3.19200
o 4. 18480

Question ID : 6009293607
Status : Answered
Chosen Option : 4

Q.14 Find the volume of cone which has base radius as 7 cm and height as 12 cm. (The
value of mis 22/7)

Ans & 1576 cm®

W 2.616 cm?
5 3.512¢em®

< 4.289cm®

Question ID : 6009293601
Status : Answered
Chosen Option : 2

Q.15 A sum of money becomes 6 times at simple interest in 15 years. What is the rate of
interest?

Ans ( 1. 33.33 percent
X 2. 16.75 percent
x 3. 30.5 percent

X 4. 8.5 percent

Question ID : 6009293598
Status : Answered
Chosen Option : 1

Q.16 A number is increased by 10 percent. Then it is decreased by 20 percent. If the final
value of number is 528, then what is the initial value of number?

Ans & 1500

/5 2.650
75 3.550
W 4.600

Question ID : 6009293609
Status : Answered
Chosen Option : 4
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QA7 e o BT T W Al # & & | R 1 1 veaw dW A W Ay # el R Rm,
oy F W | ¥ & || F Feend A S ) 3w, 3y & | g@w (W o+ 1) h (@) Ak Em
TART (W + 2) h (F) # fFw o &/f & #0139 FAn 10 0 12 8, a W F A e F
Erierd-od

Ans X1 94
v'2 16
<318
X420

Question ID : 6009293602
Status : Not Answered
Chosen Option : --

Q.18 ¥ zu=rem, qu ¥ oY 92 3W A FE 6, 9, 15 N 18 X amAr A W A I F F v
I TEr FTAT TEAT £ 9% 97 £ F 37 1 e =9 F O a7 T Ry S 7 39 #1y,
4 X gy 3WEH F TN T & @ ¥ A ww a7 fy Ao ¥, A SR =mes gl ama
e E7

Ans X 1. 187 direX
v 2 364 weT
X 3 94 dieT
2 4 191 sirex

Question ID : 6009293603
Status : Answered
Chosen Option : 2

Q.19 Speed of train is 55 km/hr. The length of train is 800 metre. In how much time can it
cross a 1400 metre long platform?

Ans & 1,132 seconds
x 2. 96 seconds
x 3. 124 seconds

J 4. 144 seconds

Question ID : 6009293613
Status : Answered
Chosen Option : 4

Q.20 Find the compound interest earned on Rs. 60,000 for 2 years at the rate of 5 percent
per annum.

Ans X 1.Rs. 6000

W 2.Rs. 6150

#% 3.Rs. 60,000
75 4.Rs. 66,150

Question ID : 6009293595
Status : Answered
Chosen Option : 2

Section : Reasoning Logical aptitude
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Q1 T aSHI g A T T = HXaT @ 3R 7d $1 3R 11 f5eft aeran @ ok fig B wR van
B1 919, T 30 T1$ ¥ 45 &3 ggar 8 ok fig ¢ W vg=R & g 2 Rt g 81 9r,
9% 135 f&ht a1¢ gear iR 1 fht Taan 2 ik us fig D wR ugTar 81

fdg B, fig D & wme forw fe=m # 82

Ans X 1 afoigd
X 2. gmad

7 3. forufEm
W 4 IRUm

Question ID : 6009293615
Status : Answered
Chosen Option : 2

Q.2 Three statements are followed by four conclusions numbered I, 11, IIT and IV. You have to consider these statements to
be true, even if they seem at variance from commonly known facts. Decide which of the given conclusions logically
follow(s) from the given statements.

Statements:
1. No plant is a flower.
2. No flower is a leaf.
3. Some plants are leaves.

Conclusions:
I No leaf is a plant.
I No leaf is a flower.
.  Some flowers are plants.
IV.  All leaves are plants.

Ans o 1. Only conclusion II follows.
7% 2. Only conclusions I and II follow.
7< 3. Only conclusion IV follows.
/< 4. Only conclusions I and IV follow.

Question ID : 6009293633
Status : Answered
Chosen Option : 1

Q.3 fIite, afy, Yoa, A ok i) t@ FT RIS B afma H e iR o1, AT F
BR & W fig R T8 So1 31 Fft, of ok i F fo A do1 31 RSt s sR F w=w
fig 331 31 il & gife= SR w= FoT B2

Ans  of 1 Td
£ 2. aif
X 3 f e
7 4 It

Question ID : 6009293628
Status : Answered
Chosen Option : 1
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Q.4 From the given figures, find which figure comes in the place of question marks which
are in series?

Ans

ﬁ..

Question ID : 6009293624

Status : Answered

Chosen Option : 2
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Q.5 Which answer figure will replace the question mark given in the question figure?

BRNE

AN

®
=~

Ans

x|\

Question ID : 6009293625
Status : Answered
Chosen Option : 1

Q.6 IEAMRA, B, C, D, ENRFIH IR A IS T sl T fp A pu A gl A, B,
FR DAV I M T SRR AN ST IUD, EX S I H g R ASTRIES
frpe P4 S 8, fear TaT @ 7% A 3R B T 91y 354 &1

Ans «1_0
S 2B
S3A
S 4F

Question ID : 6009293629
Status : Answered
Chosen Option : 1
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Q.7 Select from the following four options, the one that CANNOT be concluded from the given statements.

Statement 1 : All coats are skirts.
Statement 2 : No skirt is a shirt.
Statement 3 : Some shirts are belts.

Ans  of 1. Some coats are shirts.
75 2. No coat is a shirt.
7< 3. Some belts are not coats.

7< 4. Some belts are shirts.

Question ID : 6009293627
Status : Answered
Chosen Option : 1

Q.8 Which of the following Venn diagrams best represents the relationship between stars,
planets and universe?

Ans

5 3.

30

Question ID : 6009293623
Status : Answered
Chosen Option : 1
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Q.9 Three statemenis are followed by four conclusions numbered I, 11, IIT and IV. You have to consider these statements to
be true, even if they seem at variance from commonly known facts. Decide which of the given conclusions logically
follow{s) from the given statements.

Statements:
i (% No horse is a truck.
2 All carriages are scooters.
x All scooters are trucks.
Conclusions:
E No truck is a scooter.
1I. All carriages are tricks.

1. Some trucks are scooters.
IV.  No carriage is a horse.

Ans 2 1. All conclusions follow.
7< 2. Only either conclusions I or IV follow and III follow.

« 3. Only conclusions II. IIT and IV follow.
7% 4. Only either conclusions I or IV follow.

Question ID : 6009293621
Status : Answered
Chosen Option : 3

Q.10 If ‘A + B’ means ‘B is the brother of A’, ‘A x B’ means ‘B is the daughter of A’, ‘A @ B’
means ‘B is the wife of A’, ‘A # B’ means ‘B is the mother of A’, ‘A + B’ means ‘B is the
son of A’, then which of the following statement(s) is/are not correct?

l.‘P+Q+R+F @ J shows P as the aunt of R.
I.‘G#F +L+TxR’ shows G as the brother of R.

Ans 5" 1 Only |

5 2. Neither I nor Il

75 3. Only Il

o 4. Both land II

Question ID : 6009293631
Status : Answered
Chosen Option : 2

Q.11 Find the missing term in the following number series :

1,7,8, , 23, 38, 61

Ans X' 116
215
K312
5410

Question ID : 6009293618
Status : Answered
Chosen Option : 2
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Q.12 f3era St & UEd, A fama & a1g Prafer ugan A s & ugd wrated ugdt afea
AT F PRI UgaA & 91 UgdT | Hel & PRI UgaA & qid a1 919 praterd gga|
3 ¥ Priay H1F ygar?
Ans B 1 T
25 2. fas

X 3.fam
of 4. 2

Question ID : 6009293622
Status : Answered
Chosen Option : 4

Q.13 fag e fawent & @, 94 ve Fifda 78F ¥ TuE §)1 F1aie, e e o & ot =g
TET 81 39 fapeu &1 7= B &l 3T |V AT &

Ans B 1 99T : SRS
5 2.3
o 3. Ta=h
X 4.3 FAR

Question ID : 6009293619
Status : Answered
Chosen Option : 3

Q.14 Arrange the given words in the sequence in which they occur in the dictionary.
1. DAKOTA
2. DAMAGE
3. DARKLE
4. DONKEY
5. DANCER

Ans  of 1 12534

/5 2.21534
/53.21354
/S 413254

Question ID : 6009293620
Status : Answered
Chosen Option : 1

Q.15 Which two signs should be interchanged to make the below equation mathematically
correct?
5+ 6-2 x 8+4=30

Ans x1.xand_
x2.+and+
X3.+and-
o 4 xand+

Question ID : 6009293630
Status : Answered
Chosen Option : 4
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Q16 A BT EFBRHTENAT A4BF N EFBFmatAt sRA-BwadE™FB
FATAF

=8 T Hie W O g eoT § B R # der P §?
A X1 SH#ER*P %U
X2S#R+U%P
X3U%P#R =S
v:U%P#S+R

Question ID : 6009293634
Status : Answered
Chosen Option : 1

Q17 TH TS PI 3R FIRT FXd §E THR A FgT, 95 A UGY & I8 9¢ T del g1 96k 54
S § $A el 82

Ans x 1.4
£< 2. TRRT HISHERT HTS/PURT HIS/HIRRT WS
25 3. AT
o 4. IEATEATS GBI TR

Question ID : 6009293616
Status : Answered
Chosen Option : 2
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Q.18 If a mirror is placed on the line MN, then which of the answer figures is the mirror
image of the given figure?

Rl

Al

Ans N
Xl —=
A 4
AN
Xz T—
N QO
O N
v (—=
S

N ©
X4 E—=
S

Question ID : 6009293617
Status : Answered
Chosen Option : 3

Q.19 If ‘A’ means ‘+’, ‘B’ means ‘x’, ‘C’ means ‘+’ and ‘D’ means ‘—’, then which of the
following equation(s) is/are correct?

1.16C18B36 A11D4=39
1.L49B76 C19 A13 D 47 =162

Ans & 1 Only |

< 2.0nly i

5 3. Neither I nor Il
o 4.Bothland Il

Question ID : 6009293626
Status : Answered
Chosen Option : 1
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Q.20 A series is given with one term wrong. Select that wrong term from the given
alternatives.

PNM, RQQ, TTU, VWZ, XZC
Ans & 1 TTU

/5 2.RQQ
W 3. vwz
5 4.xzc

Question ID : 6009293632
Status : Answered
Chosen Option : 3

Section : English

Q.1 The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option ‘No Error'.

Ans x 1. and the surroundings irreparably.
x 2. The radiation leak from the nuclear accident

J 3. at Chernobyl effected the environment

x 4. No error

Question ID : 6009293635
Status : Answered
Chosen Option : 1

Q.2 Select the most appropriate option to substitute the underlined segment in the given
sentence. In case no substitution is needed, select 'No substitution required'.

It is ironical that the students had to be punished because of a report submitted by a
teacher who himself was not above suspicion.

Ans x 1. ironicism

x 2. irony

J 3. No substitution required

x 4. ironically

Question ID : 6009293638
Status : Not Answered
Chosen Option : --

Q.3 Identify the segment in the sentence which contains a grammatical error.

Always on the lookout for opportunities, Arun never shirked away from new
assignments.

Ans ( 1. Arun never shirked away
x 2. for opportunities,
x 3. from new assignments.

x 4. Always on the lookout

Question ID : 6009293637
Status : Not Answered
Chosen Option : --
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Q.4 Select the most appropriate meaning of the underlined idiom in the given sentence.

Have you seen Claire lately? She's become as thin as a stick in the last six months!
Ans X" 1. To be suspicious

X 2. Be extremely weak
( 3. Extremely skinny

X 4. Full of enthusiasm

Question ID : 6009293648
Status : Answered
Chosen Option : 2

Q.5 Select the most appropriate meaning of the given idiom.

Start from scratch

Ans x 1. To decide quickly without a thought
x 2. To take advantage of something
X 3. To be unsuccessful

J 4. To begin from the very beginning

Question ID : 6009293649
Status : Answered
Chosen Option : 4

Q.6 Select the most appropriate option to fill in the blank.

The owner of the house was at the watchman for letting in a stranger.
Ans X" 1 indulgent

X 2. impatient

/< 3. indifferent

( 4. indignant

Question ID : 6009293641
Status : Answered
Chosen Option : 1

Q.7 Select the most appropriate meaning of the given idiom.

"Get up on the wrong side of the bed"

Ans J 1. Someone who is having a horrible day
X 2. To move beyond something that is bothering you
X 3. Working hours from about 12:00 am to 8.00 pm

x 4. Not having a good night's sleep

Question ID : 6009293650
Status : Not Answered
Chosen Option : --
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Q.8 Given below are four parts of a sentence which are jumbled. Pick the option that gives
their correct order to make a grammatically correct, meaningful sentence.

A. my attention was drawn towards a huge crowd that was forcing its way
B. and | decided to stop in order to cover the story for my newspaper

C. in the direction of a popular cinema hall
D. as | reached the Metro station

Ans  of 1 DACB

/% 2.DCAB
/% 3.CADB
/< 4.ABCD

Question ID : 6009293644
Status : Answered
Chosen Option : 1

Q.9 Out of all the alternatives given, select the word which closely fits the given
idiom/phrase.

The best of both worlds

Ans J 1. To enjoy two different opportunities at the same time.
X 2. Producing similar results.
X 3. An event that happens infrequently.

X 4. Understand something complicated.

Question ID : 6009293647
Status : Answered
Chosen Option : 4

Q.10 Select the most appropriate meaning of the given idiom.

"The last straw"
Ans " 1. Make all possible efforts

J 2. The final event in a series of unacceptable actions
X 3. Unable to understand

X 4. To politely ask for someone’s full attention

Question ID : 6009293652
Status : Answered
Chosen Option : 1

Q.11 Four words are given, out of which only one word is spelt correctly. Choose the word
with the correct spelling.

Ans  of 1 Fortuitous
X 2. Fortoitus
#5 3. Fortuitius

X 4. Fortuious

Question ID : 6009293651
Status : Not Answered
Chosen Option : --
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Q.12 Fill in the blank with the most appropriate option.

She decided to her right to the ancestral property as she wanted to avoid
conflict.

Ans " 1 sign with

X 2. sign for
J 3. sign away

X 4. sign in

Question ID : 6009293640
Status : Not Answered
Chosen Option : --

Q.13 Fill in the blank with the appropriate word.

It is a general rule of formal E-mails that they eliminate any kind of
Ans X" 1 paternalism

J 2. colloquialism

X 3. evangelism
75 4. diabolism

Question ID : 6009293639
Status : Answered
Chosen Option : 2

Q.14 Select the word that is opposite in meaning (ANTONYM) to the word given below.
Desolate
Ans X" 1 Empty
X 2. Distressed
X 3. Untenanted

J 4. Populous

Question ID : 6009293653
Status : Answered
Chosen Option : 4

Q.15 Select the most appropriate option to substitute the underlined segment in the given
sentence. In case no substitution is needed, select 'No substitution required'.

There always have been a sizeable influx of immigrants from Mexico into America.
Ans " 1. No substitution required

X 2. were always been
J 3. has always been

X 4. is always being

Question ID : 6009293642
Status : Answered
Chosen Option : 4




24/02/2021

Q.16 Identify the segment in the sentence which contains a grammatical error.

Starting with cleaning the kitchen, Reema created a task list of all the odd jobs that
were to do around the house.

Ans x 1. Starting with cleaning the kitchen,
J 2. to do around the house.
x 3. of all the odd jobs that were

x 4. Reema created a task list

Question ID : 6009293636
Status : Answered
Chosen Option : 2

Q.17 Given below are four parts of a sentence which are jumbled. Pick the option that gives
their correct order to make a grammatically correct, meaningful sentence.

A. cultivating positive mental states

B. | think that

C. like kindness and compassion definitely leads to
D. better psychological health and happiness

Ans " 1 BDCA

/5 2.ACBD
/< 3.BCAD
o 2.BACD

Question ID : 6009293645
Status : Answered
Chosen Option : 4

Q.18 The given sentences have been jumbled up. Arrange these sentences in a meaningful
order.

P. there had already been abundant rainfall in Delhi

Q. it was a tragic end of summer

R. a strong wind began to blow and the rain came causing havoc all around
S. one day, a cyclonic storm hit the region

Ans X' 1 RPSQ
/5 2.QPSR

/5 3.SRPQ
W 2. Psra

Question ID : 6009293646
Status : Answered
Chosen Option : 3

Q.19 Select the most appropriate ‘one word' for the expressions given below.

The quality or action of being extremely generous.

Ans x 1. Nascence
x 2. Convalescence
J 3. Munificence
x 4. Reticence

Question ID : 6009293654
Status : Answered
Chosen Option : 2
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Q.20 Fill in the blank with the most appropriate option.

Speaking is sometimes considered a virtue especially when the speaker has an
important point to make.

Ans 3" 1 out of date

( 2. out of turn

x 3. out of control
x 4. out of hand

Question ID : 6009293643

Status : Answered

Chosen Option : 2
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ACIO Grade Il Executive 19th Feb 2021

[Participant ID

Participant Name

Test Center Name

Test Date 19/02/2021

Test Time : 9:00 AM - 10:00 AM
Subject ACIO Grade Il (Executive)

Section : General awareness Current Affairs

Q.1 Consider the statement in regard 'KAPILA' Campaign.
1. This is a campaign for Intellectual Property Literacy and Awareness campaign which

was organised on the 89th birth anniversary of former President Late Dr. APJ Abdul
Kalam.

2. This is a campaign for collection, demonstration and documentation of raw drugs
from Southern Plateau region.

Select the correct answer by using the code mentioned below.
Ans x 1. Neither 1 nor 2

£5 2.0nly 2
W 3.0nly 1

#% 4.1and 2 both

Question ID : 6009293574
Status : Not Answered
Chosen Option : --

Q.2 Who has been elected as the non-executive chairman of India bulls Housing Finance
in August 20207

Ans X" 1 B.P. Kanungo
x 2. K.K. Venugopal
J 3. S.S. Mundra

25 4. MK Jain

Question ID : 6009293563
Status : Answered
Chosen Option : 1

Q.3 How many Chinese apps had been banned by the government of India in June 2020
due to their activities which were prejudicial to sovereignty and integrity of India?

Ans  of 1 59
5 2.51
/5 3.53
/5 4.58

Question ID : 6009293557
Status : Answered
Chosen Option : 2
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Q.4 Consider the following statement in the context of Deendayal Antyodaya Yojana -
National Rural Livelihoods Mission.

1. It is a centrally sponsored programme that aims at eliminating rural poverty through
promotion of multiple livelihoods for the rural poor households across the country.
2. The Union Cabinet has approved a special package worth Rs. 820 crore for Union
Territories of Jammu and Kashmir and Ladakh for a period of five years till 2023-24.

Select the correct answer from the options given below.
Ans " 1. Only 2

#% 2.1and 2 both
x 3. Neither 1 nor 2

W 4. 0nly 1

Question ID : 6009293567
Status : Answered
Chosen Option : 2

Q.5 SVANidhi Yojana is a scheme which has been launched by Hon'ble Prime minister to.
1. To grant collateral-free loans of up to Rs 10,000 to street vendors across the
country.

2. To provide grant to fulfill the nutritional demands of women and children in the
country.
3. This scheme was launched on June 1, 2020.

Select the correct answer by using the code mentioned below.
Ans X" 1. None of the above

o 2.Only 1and 3
#5 3.0nly2and 3
< 4.0nly 1and 2

Question ID : 6009293569
Status : Answered
Chosen Option : 2

Q.6 Which app has been launched by Kiren Rijiju in June 2020 to keep Indian athletes
updated about banned substances?

Ans  of 1 NADA INDIA
75 2. NADA BHARAT
/% 3. NADA INDIAN
75 4. INDIAN NADA

Question ID : 6009293556
Status : Answered
Chosen Option : 1

Q.7 Which institution collaborated with the Bureau of Indian Standards for cooperation in
the areas of standardization and conformity assessment in August 20207

Ans 3 1_IIT Bombay
o 2. 1T Roorkee
< 3.1IT Madras

x 4. IT Kanpur

Question ID : 6009293560
Status : Not Answered
Chosen Option : --




24/02/2021

Q.8 Consider the statement in context of CMS-01.
1. It is a communication satellite which is launched by PSLV-C50 from the Satish
Dhawan Space Centre (SDSC) SHAR, Sriharikota.
2. It is a project which aims to monitor, track and protect space assets of India.

Select the correct answer by using the code mentioned below.
Ans  of 1 Only 1

#% 2.1and 2 both

75 3.0nly 2

x 4. Neither 1 nor 2

Question ID : 6009293572
Status : Answered
Chosen Option : 2

Q.9 Bharat Parv is a five-day annual event that celebrates the spirit of India is being
organised virtually from January 26, 2021 till January 31, 2021. Which of the following
statements is/are NOT correct regarding the event?

1. It was started in the year 2016.

2. This year the event was inaugurated by the Lok Sabha Speaker Om Birla.

3. The Central theme of this year’s Bharat Parv is ‘Mera Desh Badal Raha Hai, Aage
Badh Raha Hai'

4. The event is organized by the Ministry of defence every year
Select the correct answer using the code given below.

(A) 1 only

(B) 2 only

(C)3and 4

(D) 2 and 3 only

Ans 1A
voc
K 3B
4D

Question ID : 6009293570
Status : Not Answered
Chosen Option : --

Q.10 In June 2019, The Indian Air Force has signed a deal with the Israeli government to
buy as many as 100 SPICE bombs worth:

Ans X" 1. Rs. 100 crore
75 2. Rs. 400 crore
( 3. Rs. 300 crore

x 4. Rs. 200 crore

Question ID : 6009293562
Status : Answered
Chosen Option : 4

Q.11 Which of the following Union ministry won the SKOCH Gold Award 2020?
Ans x 1. Ministry of Women and Child Development

x 2. Ministry of Health and Family Welfare
x 3. Ministry of Textiles

of 4. Ministry of Tribal Affairs

Question ID : 6009293555
Status : Answered
Chosen Option : 4
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Q.12 Consider the statement in regard of Aditya Mehta.
1. Aditya Mehta defeated multiple-time world champion Pankaj Advani 6-2 to win the
National Snooker Championship.
2. Aditya Mehta represented the Petroleum Sports Promotion Board (PSPB).

Select the correct answer by using the code mentioned below.
Ans X" 1. Neither 1 nor 2

< 2.0nly2
#5 3.0nly 1

o 4. 1and 2 both

Question ID : 6009293573
Status : Not Answered
Chosen Option : --

Q.13 Consider the following statement in the context of Padma Award 2021.

1. Padma awards are given in three categories, namely, Padma Vibhushan, Padma
Bhushan and Padma Shri.

2. Shri Shinzo Abe from Japan is awarded with Padma Bhushan for his contribution in
the field of Public Affairs.

3. 7 were awarded the Padma Vibhushan, 10 named for the Padma Bhushan and 102
named for Padma Shri.

Select the correct answer by using the code mentioned below.

Ans & 1 Only 1and 2
o 2. Only 1and 3
#% 3.0nly2and 3

x 4. None of the above

Question ID : 6009293565
Status : Answered
Chosen Option : 2

Q.14 Consider the statement in regard of Wavel Ramkalawan.

1. He has won Seychelles’ presidential election.
2. He has won the Ramanujan Prize for Mathematicians for the year 2020.

Select the correct answer by using the code mentioned below.
Ans  of 1 Only 1

x 2. Neither 1 nor 2

x 3.0nly 2

< 4.1and 2 both

Question ID : 6009293566
Status : Not Answered
Chosen Option : --
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Q.15 What is Sarna Code? Consider the following statement in this regard.
1. The Jharkhand Assembly has unanimously passed a resolution seeking the
inclusion of Sarna as a separate religion in Census, 2021.
2. The opposition parties gave a proposal demanding a discussion on the resolution,
which was rejected by assembly speaker.

Select the correct answer by using the code mentioned below.
Ans X" 1.1 and 2 both

x 2. Neither 1 nor 2
W 3.0nly 1
5 4.0nly 2

Question ID : 6009293571
Status : Not Answered
Chosen Option : --

Q.16 On 21st January 2021, Gujarat Chief Minister Vijay Rupani announced the “Horticulture
Development Mission” in the state with an aim:

1. to double the income of the farmers involved in horticulture and medicinal farming
2. to provide waste land of the state government on 45 year lease for forming of
horticulture and medicinal crops

3. to cover 7 districts of the state as the part of first phase

Select the correct answer using the code given below.
(A) 1 only
(B) 2 only

(C) 3 only
(D) Both 1 and 2

Ans X' 1D
K 2.B
Ko3c
o 2 A

Question ID : 6009293568
Status : Answered
Chosen Option : 4

Q.17 Which country has become the first African country to submit the results of Reducing
Emissions from Deforestation and Forest Degradation (REDD+) to UNFCCC?

Ans & 1. Burundi

x 2. Algeria

x 3. Cameroon

« 4. Uganda

Question ID : 6009293558
Status : Not Answered
Chosen Option : --

Q.18 Who has been reappointed as solicitor general of India in July 20207
Ans x 1. N Venkataraman

/5 2.RS. Suri

« 3. Tushar Mehta

#% 4. Balbir Singh

Question ID : 6009293559
Status : Answered
Chosen Option : 1
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Q.19 Prime Minister Narendra Modi was honored with which award in 2019 by Bill and
Melinda Gates Foundation for his leadership and commitment to improve access to
sanitation in India?

Ans X 1. Seoul Peace Prize
x 2. Champions of the Earth Award
75 3. Philip Kotler Presidential Award

“ 4. Global Goalkeeper Award

Question ID : 6009293564
Status : Answered
Chosen Option : 4

Q.20 The Rockefeller Foundation announced 10 finalists for the Food System Vision 2050
Prize in August 2020. Among them how many finalists were selected from India?

Ans X' 1.4
W22
<031
K43

Question ID : 6009293561
Status : Not Answered
Chosen Option : --

Section : General studies

Q.1 Match List-T with List-IT and select the correct answer using the codes given below the Lists.

List-I (Mahajanapadas) | List-II (Capitals of Mahajanapadas)
A. Malla 1. Taxila

B. Anga 2. Kausambi

C. Gandhara 3. Champa

D. Vatsa 4. Kusinara

Ans X 1. A-2,B-3,C-4,D-1
v 2 A-4,B-3,C-1,D-2
X3 A-3,B-1,C-2,D4
K4 A-1,B-2,C4,D-3

Question ID : 6009293591
Status : Not Answered
Chosen Option : --
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Q.2 Consider the following statements regarding Save Water Day.

1. On 12 July 2019. the West Bengal government observed Save Water Day across the state to spread the message
of water conservation,

2. This was the first-ever Save Water Day observed across West Bengal to spread the message of water conservation.

3. West Bengal has a water conservation programme called TJal Dharo Jal Bharo’ to prevent floods and provide
water during the period of scarcity.

4. The Government of India has set a target to provide 35 lakh households in West Bengal with tap water supply by
March 2021.

Which of the statements given above is/are correct?
Ans 1. Only 1 and 3

/<2 Only 1 and 2

« 3 Only 1,2 and 3

/< 4 Only 2, 3 and 4

Question ID : 6009293593
Status : Not Answered
Chosen Option : --

Q.3 Consider the following statements in reference to the Phylogenetic classification system.
1. It shows an evolutionary relationship between various organisms on the basis of descent from a common ancestor.

2. In this system. the cladistics method is used in generating phylogenetic trees.
3. It was proposed by Swedish Botanist Carolus Linnaeus.

Which of the statements given above is/are correct?

Ans o1 3 only
« 2 1 and 2 only
7< 3 1 only
/< 4 2 only

Question ID : 6009293588
Status : Not Answered
Chosen Option : --

Q.4 Which of the following pair is correct?
I. 1905 — Partition of Bengal

11. 1908 — Split in Congress
1ll. 1919 — Rowlatt Satyagrah

Ans 5 1 land Il

25 2. 11and Il
W 3 1and i
25 4.0, 1and 11l

Question ID : 6009293575
Status : Answered
Chosen Option : 3
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Q.5 As per the Union Budget 2020-21, what will be the implementation period of the
National Technical Textiles Mission?

Ans X" 1 2021-22 to 2023-24
72X 2.2020-21 to 2024-25
o 3.2020-21 t0 2023-24
25 4.2021-22 to 2024-25

Question ID : 6009293582
Status : Not Answered
Chosen Option : --

Q.6 With which of the following musical instruments is Ustad Ali Akbar Khan related to?
Ans J 1. Sarod

/5 2. sitar
#% 3. Tabla
25 4. Violin

Question ID : 6009293580
Status : Not Answered
Chosen Option : --

Q.7 Consider the following statements in reference to Punjab Preservation of Subsoil Water Act, 2009.

1. As per the Act. no farmer shall sow nursery of paddy before 10™ day of May of the agricultural year or such
other date as may be notified by the State Government by notification in the Official Gazette for any local area.

2. Any farmer who contravenes the provisions of this Act shall be liable to a penalty of rupees ten thousand for
every month. or part thereof. per hectare of the land till the period such contravention continues.

3. As per the Act, ‘State government’ means ‘Government of India’,

Which of the statements given above is/are correct?

Ans 1. Only 1 and 3
« 2 Only 1 and 2
/< 3 Only 3
75 4 Only2and 3

Question ID : 6009293594
Status : Not Answered
Chosen Option : --

Q.8 Chenab, the largest tributary of the Indus river, is also known as
Ans X" 1. Bhagirathi

25 2. Kosi

J 3. Chandrabhaga

5 4. Giri

Question ID : 6009293576
Status : Answered
Chosen Option : 3
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Q9 Consider the following statements regarding Khardung La Pass.

1. It is the highest motorable pass in India.
2. Itis the gateway to the Nubra and Shyok Valleys.

3. It is situated to the North of Mount Godwin-Austen.
Which of the statements given above is/are correct?
Ans 1. Only 2 and 3
/< 2. Only 1
75 3 Only2
« 4 Only 1 and 2

Question ID : 6009293590
Status : Answered
Chosen Option : 4

Q.10 Consider the following statements with reference to the Mamallapuram dance festival.

1. It is the celebration of folk dances that are prevailing in various regions of the country.
2. This festival is organised for about ten days in the town of Mahabalipuram.

3. Tales from Mahabharat, Radha Krishna, Valli Muruga, Shiva Shakthi and numerous ancient lore are brought alive through
delicate dance forms.

4. Breath-taking dances are performed in ornamented stage with the historic stone sculptures range ‘the Arjuna Penance’ as
the backdrop.

Which of the statements given above is/are cormect?

Ans 1. Only 1 and 3
752 Only2,3and 4
« 3 Only I, 3 and 4
7< 4 Only1and2

Question ID : 6009293592
Status : Not Answered
Chosen Option : --

Q.11 With which of the following sports is Nikhat Zareen related to?
Ans " 1. Hockey

X 2. Badminton

( 3. Boxing

X 4. Wrestling

Question ID : 6009293579
Status : Not Answered
Chosen Option : --

Q.12 Phawngpui or the Blue Mountain is the highest peak in the state of .
Ans " 1. Uttarakhand

X 2. Kerala
J 3. Mizoram
5 4. Sikkim

Question ID : 6009293585
Status : Answered
Chosen Option : 4
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Q.13 Which among the following soil is commonly used for bricks?
Ans 2 1 Alluvial

J 2. Laterite
75 3. Black
X 4. Peaty

Question ID : 6009293583
Status : Answered
Chosen Option : 1

Q.14 fmfafed e & 3 frae ot & SR demn gar 2
Ans X 1 B1

 2.83

X 3.D

K 4A

Question ID : 6009293584
Status : Answered
Chosen Option : 2

Q.15 Consider the following statements regarding the Babbar Akali movement during the years 1921-1925.

1. The movement included Guru Sikhs, who were against the imperialist policies of the British Government.
2. Majority of the Babbar Akalis were returned immigrants from Canada.

Which of the statements given above is‘are correct?

Ans X 1. Neither 1 nor 2
« 2 Both 1 and 2
/< 3 Only 2
/< 4 Only 1

Question ID : 6009293586
Status : Not Answered
Chosen Option : --

Q.16 Match List-I with List-IT and select the correct answer using the codes given below the Lists.

List-I (States) | List-II (Sports festivals celebrated in these states)
A. Punjab 1. Indian Derby

B. Gujarat 2. Kila Raipur Sports Festival

C. Kerala 3. International Kite Festival

D. Maharashtra | 4. Champakulam Boat Race

Ans o 1. A-1,B-2, C-4,D-3
X 2. A-4,B-1,C-2,D-3
X3 A-3,B-1,C-2,D-4
v 4 A2, B-3,C-4,D-1

Question ID : 6009293589
Status : Answered
Chosen Option : 4




24/02/2021

Q.17 In which of the following ways can 1 Volt be expressed?
Ans ( 1. 1 Joule per Coulomb

x 2.1 Coulomb per Joule
X 3. 1 Joule-Coulomb

X 4. 1 Joule-Coulomb per second

Question ID : 6009293581
Status : Not Answered
Chosen Option : --

Q.18 Which among the following books is not written by Arundhati Roy?
Ans X" 1. The Algebra of Infinite Justice

X 2. The Ministry of Utmost Happiness
( 3. Once Upon a Time

#% 4. The God of Small Things

Question ID : 6009293577
Status : Answered
Chosen Option : 3

Q.19 Amongst the following, which state celebrates Gangaur festival?
Ans & 1 Karnataka

( 2. Rajasthan

x 3. Goa

X 4. Arunachal Pradesh

Question ID : 6009293578
Status : Answered
Chosen Option : 2

Q.20 Consider the following statements with reference to indirect taxes in Budget 2020.

1. Custom duty was raised on footwear from 25% to 35% and on furnimre goods from 20% to 25%.

Which of the statements given above is/are correct?

Ans X 1. Neither 1 nor 2
/< 2 Only 2
75 3. Only 1
+ 4 Both 1 and 2

2. Basic customs duty on imports of newsprint and light-weighted coated paper was reduced from 10% to 5%.

Question ID : 6009293587
Status : Not Answered
Chosen Option : --

Section : Numerical aptitude

11/31
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Q.1 What is the average of 132, 146, 218, 232, 321 and 2237
Ans " 1 214

W 2212
/< 3.208
54218

Question ID : 6009293608
Status : Answered
Chosen Option : 2

Q.2 Speed of a car is 45 km/hr. How much distance can it travel in 50 seconds?
Ans X" 1.650 metre

X 2. 575 metre
X 3. 550 metre
J 4. 625 metre

Question ID : 6009293611
Status : Answered
Chosen Option : 4

Q.3 Alloy A contains iron and copper in ration 4 : 5. Alloy B contains iron and copper in
ratio 3 : 4. If 45 kg of alloy A and 63 kg of alloy B are mixed, then what is the final ratio
of copper and iron?

Ans  of 16147

/5 2.64:47
#5 3.59:45
54,5741

Question ID : 6009293612
Status : Answered
Chosen Option : 1
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Q.4 Study the following graph to answer the question.

Destination wise pattern of all India Exports (in crore)

8O0 L1800

1800 iiL

1400

America Euwope  Russia  Japan  China  Srilanka
® 2000-2001  #2010-2011

India’s exports to which of the following regions increased most in terms of
percentage between 2000-01 and 2010 — 20117

Ans & 1 Japan
x 2. Russia
/< 3.China
o 4. Europe

Question ID : 6009293606
Status : Answered
Chosen Option : 2

Q.5 Ratio of milk and water in two mixtures A and B is 3 : 2 and 4 : 3 respectively. If A and
B are mixed in the ratio of 1 : 2, then what is the ratio of milk and water in final
mixture?

Ans  of 16144

75 2.51:46
/< 3.63:46
25 4.57:41

Question ID : 6009293610
Status : Answered
Chosen Option : 1

Q6 Wﬁﬁlﬁﬁﬂﬁgﬁﬁﬁﬁaﬁﬂﬁ,wﬁﬁﬁéﬁ?mﬂﬁ | 5} 3N =T 360
B Sfita fagm &t gead T fage ofv Wifoast 3t gt @t @ @ 180 il
g1 Wifes 9 qoae! 3t e i g ok TarH fag 3t as! @) sivd g 3
180 ®H B 1 gH ™ § T fag 3t qeaw! o) wen frat 82

Ans & 1540
75 2.480
75 3.420
W 4360

Question ID : 6009293604
Status : Not Answered
Chosen Option : --




24/02/2021

Q.7 If the volume of a room is 1680 m® and the area of the floor is 112 m2. Find the height of
the room.

Ans X1.8m
/5 2.20m
W3 15m
X 4.10m

Question ID : 6009293614
Status : Answered
Chosen Option : 3

Q.8 The pie-chart given below represents the percentage distribution of the number of
eggs sold by a shopkeeper on different days of a week.

Percentage distribution of the number of
eggs sold by a shopkeeper

Tuesday, 8%

Find the ratio of the number of eggs sold by the shopkeeper on Wednesday to that of
the same on Thursday.

Ans 1 47
< 2,49
W 335
K425

Question ID : 6009293605
Status : Answered
Chosen Option : 3
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Q.9 ﬁfwaﬁﬁwgﬁﬁﬁﬁmmaﬁaﬂﬁaﬂmﬁmﬁﬂﬂi%l

fora ad A fibeil 3R yars afml & fawt &) ga wen, dd o1 fas 1 ga g=n 100

3P g Mg ?

CL| et yers aefe firer et

1996 320 200 220 1500

19497 350 220 150 1700

1098 315 250 200 1300

1999 400 280 150 2000
Ans X" 11997
o 2.19%
75 3.1999
5 4.1998

Question ID : 6009293600
Status : Answered
Chosen Option : 2

Q.10 Us ATsfhel o1 3ifhd Hed 1500 $UT §, St ARTd Hed & 25 ufarra 31 21 afe 33 10
yfa=rd F ge W I91 ST 8, @ a1 ufaRrd Jd w2

Ans  of 1 1250l
% 2. 20 vfoRd
75 3. 15 TR
25 4. 30 wfo=ra

Question ID : 6009293597
Status : Answered
Chosen Option : 1

Q.11 The ratio of price of a mango and an apple is 3 : 2. If the total price of an apple and a
mango is Rs. 100, then find the price of a mango.

Ans & 1 Rs. 40

o 2. Rs.60
/5 3.Rs. 80
/X 4.Rs.30

Question ID : 6009293599
Status : Answered
Chosen Option : 2

Q12 3] FH) TH FI T HA F 99 A ST THY T 8 3R dg A N 771 T80 A7am 81
Y H S TH B3 A 3 37 @ &1 34 A B1d ) T HRA & e e o feran @2

Ans X" 1 24 fe
S 2. 126
X 3.3f
o 2 187

Question ID : 6009293596
Status : Answered
Chosen Option : 4
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Q.13 336, 528 TUT 240 HT TYTH TATITY HIT 2
Ans X 1.16620

25 2.17240
5 3.19200
o 4. 18480

Question ID : 6009293607
Status : Answered
Chosen Option : 4

Q.14 Find the volume of cone which has base radius as 7 cm and height as 12 cm. (The
value of mis 22/7)

Ans " 1576 cm®

W 2.616 cm?
5 3.512¢em®

< 4.289cm®

Question ID : 6009293601
Status : Answered
Chosen Option : 2

Q.15 A sum of money becomes 6 times at simple interest in 15 years. What is the rate of
interest?

Ans ( 1. 33.33 percent
X 2. 16.75 percent
x 3. 30.5 percent

X 4. 8.5 percent

Question ID : 6009293598
Status : Answered
Chosen Option : 1

Q.16 A number is increased by 10 percent. Then it is decreased by 20 percent. If the final
value of number is 528, then what is the initial value of number?

Ans & 1500

/5 2.650
75 3.550
W 4.600

Question ID : 6009293609
Status : Answered
Chosen Option : 4
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QA7 e o BT T W Al # & & | R 1 1 veaw dW A W Ay # el R Rm,
oy F W | ¥ & || F Feend A S ) 3w, 3y & | g@w (W o+ 1) h (@) Ak Em
TART (W + 2) h (F) # fFw o &/f & #0139 FAn 10 0 12 8, a W F A e F
Erierd-od

Ans X1 94
v'2 16
<318
X420

Question ID : 6009293602
Status : Not Answered
Chosen Option : --

Q.18 ¥ zu=rem, qu ¥ oY 92 3W A FE 6, 9, 15 N 18 X amAr A W A I F F v
I TEr FTAT TEAT £ 9% 97 £ F 37 1 e =9 F O a7 T Ry S 7 39 #1y,
4 X gy 3WEH F TN T & @ ¥ A ww a7 fy Ao ¥, A SR =mes gl ama
e E7

Ans X 1. 187 direX
v 2 364 weT
X 3 94 dieT
2 4 191 sirex

Question ID : 6009293603
Status : Answered
Chosen Option : 2

Q.19 Speed of train is 55 km/hr. The length of train is 800 metre. In how much time can it
cross a 1400 metre long platform?

Ans & 1,132 seconds
x 2. 96 seconds
x 3. 124 seconds

J 4. 144 seconds

Question ID : 6009293613
Status : Answered
Chosen Option : 4

Q.20 Find the compound interest earned on Rs. 60,000 for 2 years at the rate of 5 percent
per annum.

Ans X 1.Rs. 6000

W 2.Rs. 6150

#% 3.Rs. 60,000
75 4.Rs. 66,150

Question ID : 6009293595
Status : Answered
Chosen Option : 2

Section : Reasoning Logical aptitude
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Q1 T aSHI g A T T = HRaT @ SR gd $1 3R 11 f5eft aeran @ ok fig B wR van
B1 919, T 30 T1E ¥ 45 & ggar 8 ok fig ¢ W vg=R & g 2 feht g 81 or,
9% 135 f&ht a1¢ gear iR 1 fht aaan 2 ik vs fig D wR ug=ar 81

fdg B, fig D & wme forw fe=m # 82

Ans X 1 afoigd
X 2. gmad

7 3. forufEm
W 4 IRUEm

Question ID : 6009293615
Status : Answered
Chosen Option : 2

Q.2 Three statements are followed by four conclusions numbered I, 11, IIT and IV. You have to consider these statements to
be true, even if they seem at variance from commonly known facts. Decide which of the given conclusions logically
follow(s) from the given statements.

Statements:
1. No plant is a flower.
2. No flower is a leaf.
3. Some plants are leaves.

Conclusions:
I No leaf is a plant.
I No leaf is a flower.
.  Some flowers are plants.
IV.  All leaves are plants.

Ans o 1. Only conclusion II follows.
7% 2. Only conclusions I and II follow.
7< 3. Only conclusion IV follows.
/< 4. Only conclusions I and IV follow.

Question ID : 6009293633
Status : Answered
Chosen Option : 1

Q.3 fIFie, afy, Yoaa, A ok i) t@ FT RIS B A ma H e iR o1, AT F
BR & W fig R T8 So1 31 Fft, of ok i F fo A do1 31 St A sR F w=w
fig 331 31 il & gife= SR P FoT B2

Ans  of 1 Td
£ 2. aif
X 3 f e
7 4 It

Question ID : 6009293628
Status : Answered
Chosen Option : 1
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Q.4 From the given figures, find which figure comes in the place of question marks which
are in series?

Ans

ﬁ..

Question ID : 6009293624

Status : Answered

Chosen Option : 2
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Q.5 Which answer figure will replace the question mark given in the question figure?

BRNE

AN

®
=~

Ans

x|\

Question ID : 6009293625
Status : Answered
Chosen Option : 1

Q.6 IEAMRA, B, C,D,ENRFIH IR AIS T sl T fp A pu A gl A, B,
FR DAV I M T SRR AN ST IU D, EX S I H g W ASTRIES
frpe P4 S 8, fear TaT @ 7 A 3R B T 91y 354 &1

Ans «1_0
2B
S3A
S 4F

Question ID : 6009293629
Status : Answered
Chosen Option : 1
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Q.7 Select from the following four options, the one that CANNOT be concluded from the given statements.

Statement 1 : All coats are skirts.
Statement 2 : No skirt is a shirt.
Statement 3 : Some shirts are belts.

Ans  of 1. Some coats are shirts.
75 2. No coat is a shirt.
7< 3. Some belts are not coats.

7< 4. Some belts are shirts.

Question ID : 6009293627
Status : Answered
Chosen Option : 1

Q.8 Which of the following Venn diagrams best represents the relationship between stars,
planets and universe?

Ans

5 3.

30

Question ID : 6009293623
Status : Answered
Chosen Option : 1
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Q.9 Three statemenis are followed by four conclusions numbered I, 11, IIT and IV. You have to consider these statements to
be true, even if they seem at variance from commonly known facts. Decide which of the given conclusions logically
follow{s) from the given statements.

Statements:
i (% No horse is a truck.
2 All carriages are scooters.
x All scooters are trucks.
Conclusions:
E No truck is a scooter.
1I. All carriages are tricks.

1. Some trucks are scooters.
IV.  No carriage is a horse.

Ans 2 1. All conclusions follow.
7< 2. Only either conclusions I or IV follow and III follow.

« 3. Only conclusions II. IIT and IV follow.
7% 4. Only either conclusions I or IV follow.

Question ID : 6009293621
Status : Answered
Chosen Option : 3

Q.10 If ‘A + B’ means ‘B is the brother of A’, ‘A x B’ means ‘B is the daughter of A’, ‘A @ B’
means ‘B is the wife of A’, ‘A # B’ means ‘B is the mother of A’, ‘A + B’ means ‘B is the
son of A’, then which of the following statement(s) is/are not correct?

l.‘P+Q+R+F @ J shows P as the aunt of R.
I.‘G#F +L+TxR’ shows G as the brother of R.

Ans & 1 Only|

5 2. Neither I nor Il

75 3. Only Il

o 4. Both land II

Question ID : 6009293631
Status : Answered
Chosen Option : 2

Q.11 Find the missing term in the following number series :

1,7,8, , 23, 38, 61

Ans X' 116
215
K312
5410

Question ID : 6009293618
Status : Answered
Chosen Option : 2
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Q.12 f3era St & wEd, Wit famra & a1g Prafery ugan A s & ugd wrated ugdt afea
AT F AT UgaA & 91 UgdT | Hel & PRI UgaA & q¥d a1 919 praterd gga|
3 ¥ Priay H1F ygar?
Ans (1 T
25 2. fas

X 3.fam
of 4. 2

Question ID : 6009293622
Status : Answered
Chosen Option : 4

Q.13 fag e fawent & /, 94 ve Fifda 78F F T §)1 F1aie, e e o & ot =g
TET 81 39 fapeu &1 7= B &l 3T |V AT &

Ans B 1 99T : SRS
5 2.3
o 3. Ta=h
X 4.3 FAR

Question ID : 6009293619
Status : Answered
Chosen Option : 3

Q.14 Arrange the given words in the sequence in which they occur in the dictionary.
1. DAKOTA
2. DAMAGE
3. DARKLE
4. DONKEY
5. DANCER

Ans  of 1 12534

/5 2.21534
/53.21354
/S 413254

Question ID : 6009293620
Status : Answered
Chosen Option : 1

Q.15 Which two signs should be interchanged to make the below equation mathematically
correct?
5+ 6-2 x 8+4=30

Ans x1.xand_
x2.+and+
X3.+and-
o 4 xand+

Question ID : 6009293630
Status : Answered
Chosen Option : 4
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Q16 A BT EFBRHTENAT A4BF N EFBFmatAt sRA-BwadE™FB
FATAF

=8 T Hie W O g eoT § B R # der P §?
A X1 SH#ER*P %U
X2S#R+U%P
X3U%P#R =S
v:U%P#S+R

Question ID : 6009293634
Status : Answered
Chosen Option : 1

Q.17 TH A5 PI 3R FIRT FXd §Y THR A Fg1, 95 A 99X & I8 9¢ T del 3| 96k 34
S § HA HaRa 82

Ans x 1.4
£< 2. TR HISHERT HTS/PURT HIS/HIRRT WS
25 3. AT
o 4. IEATEATS GBI TR

Question ID : 6009293616
Status : Answered
Chosen Option : 2
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Q.18 If a mirror is placed on the line MN, then which of the answer figures is the mirror
image of the given figure?

Rl

Al

Ans N
Xl —=
A 4
AN
Xz T—
N QO
O N
v (—=
S

N ©
X4 E—=
S

Question ID : 6009293617
Status : Answered
Chosen Option : 3

Q.19 If ‘A’ means ‘+’, ‘B’ means ‘x’, ‘C’ means ‘+’ and ‘D’ means ‘—’, then which of the
following equation(s) is/are correct?

1.16C18B36 A11 D4 =39
1.L49B76 C19 A13 D 47 =162

Ans & 1 Only |

< 2.0nly i

5 3. Neither I nor Il
o 4.Bothland Il

Question ID : 6009293626
Status : Answered
Chosen Option : 1
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Q.20 A series is given with one term wrong. Select that wrong term from the given
alternatives.

PNM, RQQ, TTU, VWZ, XZC
Ans & 1 TTU

/5 2.RQQ
W 3. vwz
5 4.xzc

Question ID : 6009293632
Status : Answered
Chosen Option : 3

Section : English

Q.1 The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option ‘No Error'.

Ans x 1. and the surroundings irreparably.
x 2. The radiation leak from the nuclear accident

J 3. at Chernobyl effected the environment

x 4. No error

Question ID : 6009293635
Status : Answered
Chosen Option : 1

Q.2 Select the most appropriate option to substitute the underlined segment in the given
sentence. In case no substitution is needed, select 'No substitution required'.

It is ironical that the students had to be punished because of a report submitted by a
teacher who himself was not above suspicion.

Ans x 1. ironicism

x 2. irony

J 3. No substitution required

x 4. ironically

Question ID : 6009293638
Status : Not Answered
Chosen Option : --

Q.3 Identify the segment in the sentence which contains a grammatical error.

Always on the lookout for opportunities, Arun never shirked away from new
assignments.

Ans ( 1. Arun never shirked away
x 2. for opportunities,
x 3. from new assignments.

x 4. Always on the lookout

Question ID : 6009293637
Status : Not Answered
Chosen Option : --
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Q.4 Select the most appropriate meaning of the underlined idiom in the given sentence.

Have you seen Claire lately? She's become as thin as a stick in the last six months!
Ans X" 1. To be suspicious

X 2. Be extremely weak
( 3. Extremely skinny

X 4. Full of enthusiasm

Question ID : 6009293648
Status : Answered
Chosen Option : 2

Q.5 Select the most appropriate meaning of the given idiom.

Start from scratch

Ans x 1. To decide quickly without a thought
x 2. To take advantage of something
X 3. To be unsuccessful

J 4. To begin from the very beginning

Question ID : 6009293649
Status : Answered
Chosen Option : 4

Q.6 Select the most appropriate option to fill in the blank.

The owner of the house was at the watchman for letting in a stranger.
Ans X" 1 indulgent

X 2. impatient

/< 3. indifferent

( 4. indignant

Question ID : 6009293641
Status : Answered
Chosen Option : 1

Q.7 Select the most appropriate meaning of the given idiom.

"Get up on the wrong side of the bed"

Ans J 1. Someone who is having a horrible day
X 2. To move beyond something that is bothering you
X 3. Working hours from about 12:00 am to 8.00 pm

x 4. Not having a good night's sleep

Question ID : 6009293650
Status : Not Answered
Chosen Option : --
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Q.8 Given below are four parts of a sentence which are jumbled. Pick the option that gives
their correct order to make a grammatically correct, meaningful sentence.

A. my attention was drawn towards a huge crowd that was forcing its way
B. and | decided to stop in order to cover the story for my newspaper

C. in the direction of a popular cinema hall
D. as | reached the Metro station

Ans  of 1 DACB

/% 2.DCAB
/% 3.CADB
/< 4.ABCD

Question ID : 6009293644
Status : Answered
Chosen Option : 1

Q.9 Out of all the alternatives given, select the word which closely fits the given
idiom/phrase.

The best of both worlds

Ans J 1. To enjoy two different opportunities at the same time.
X 2. Producing similar results.
X 3. An event that happens infrequently.

X 4. Understand something complicated.

Question ID : 6009293647
Status : Answered
Chosen Option : 4

Q.10 Select the most appropriate meaning of the given idiom.

"The last straw"
Ans " 1. Make all possible efforts

J 2. The final event in a series of unacceptable actions
X 3. Unable to understand

X 4. To politely ask for someone’s full attention

Question ID : 6009293652
Status : Answered
Chosen Option : 1

Q.11 Four words are given, out of which only one word is spelt correctly. Choose the word
with the correct spelling.

Ans  of 1 Fortuitous
X 2. Fortoitus
#5 3. Fortuitius

X 4. Fortuious

Question ID : 6009293651
Status : Not Answered
Chosen Option : --
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Q.12 Fill in the blank with the most appropriate option.

She decided to her right to the ancestral property as she wanted to avoid
conflict.

Ans " 1 sign with

X 2. sign for
J 3. sign away

X 4. sign in

Question ID : 6009293640
Status : Not Answered
Chosen Option : --

Q.13 Fill in the blank with the appropriate word.

It is a general rule of formal E-mails that they eliminate any kind of
Ans X" 1 paternalism

J 2. colloquialism

X 3. evangelism
75 4. diabolism

Question ID : 6009293639
Status : Answered
Chosen Option : 2

Q.14 Select the word that is opposite in meaning (ANTONYM) to the word given below.
Desolate
Ans X" 1 Empty
X 2. Distressed
X 3. Untenanted

J 4. Populous

Question ID : 6009293653
Status : Answered
Chosen Option : 4

Q.15 Select the most appropriate option to substitute the underlined segment in the given
sentence. In case no substitution is needed, select 'No substitution required'.

There always have been a sizeable influx of immigrants from Mexico into America.
Ans " 1. No substitution required

X 2. were always been
J 3. has always been

X 4. is always being

Question ID : 6009293642
Status : Answered
Chosen Option : 4
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Q.16 Identify the segment in the sentence which contains a grammatical error.

Starting with cleaning the kitchen, Reema created a task list of all the odd jobs that
were to do around the house.

Ans x 1. Starting with cleaning the kitchen,
J 2. to do around the house.
x 3. of all the odd jobs that were

x 4. Reema created a task list

Question ID : 6009293636
Status : Answered
Chosen Option : 2

Q.17 Given below are four parts of a sentence which are jumbled. Pick the option that gives
their correct order to make a grammatically correct, meaningful sentence.

A. cultivating positive mental states

B. | think that

C. like kindness and compassion definitely leads to
D. better psychological health and happiness

Ans & 1 BDCA

/5 2.ACBD
/< 3.BCAD
o 2.BACD

Question ID : 6009293645
Status : Answered
Chosen Option : 4

Q.18 The given sentences have been jumbled up. Arrange these sentences in a meaningful
order.

P. there had already been abundant rainfall in Delhi

Q. it was a tragic end of summer

R. a strong wind began to blow and the rain came causing havoc all around
S. one day, a cyclonic storm hit the region

Ans X' 1 RPSQ
/5 2.QPSR

/5 3.SRPQ
W 2. Psra

Question ID : 6009293646
Status : Answered
Chosen Option : 3

Q.19 Select the most appropriate ‘one word' for the expressions given below.

The quality or action of being extremely generous.

Ans x 1. Nascence
x 2. Convalescence
J 3. Munificence
x 4. Reticence

Question ID : 6009293654
Status : Answered
Chosen Option : 2
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Q.20 Fill in the blank with the most appropriate option.

Speaking is sometimes considered a virtue especially when the speaker has an
important point to make.

Ans 3" 1 out of date

( 2. out of turn

x 3. out of control
x 4. out of hand

Question ID : 6009293643

Status : Answered

Chosen Option : 2
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Test Center
Name

Test Date 19/02/2021
Test Time : 3:00 PM - 4:00 PM
Subject ACIO Grade Il (Executive)

Section : General awareness Current Affairs

Q.1 Consider the following statements about Bharat Ratna.

(1) Nanaji Deshmukh received this award in 2019.
(2) Nanaji Deshmukh received this award for his work in the field of Art and Literature.

Which of the statements given above is/are correct?
Ans « 1.1 only

#5 2. Neither 1 nor 2
/< 3.Both 1and 2

x 4. 2 only

Question ID : 6009293765
Status : Answered
Chosen Option : 1

Q2 2020 % fagR RUF AW TIT F IR A FERf@a i A FT A/ A FITIA R/ 82

(A) 39 19 ¥ PR SIaifae Tedu 125 faffea fAurae! (MLA) & a1y s & wu o
JWRTI

(B) HETTSES A 110 e St
(c) faora TuR Rieg1 3t fagR faumRIyT &7 =177 sreger gom |
(D) faER ¥t o seRed AU YT 1 FRIGT 29 ATgER 2020 B AT 3T

Ans  of 1 A BERC
/5 2.B,C3RD
/5 3.A,B3IRD
X 4.ADSRC

Question ID : 6009293769
Status : Not Answered
Chosen Option : --

Q.3 HY, FgwTiar 3R fFAM Heamur fIUnT gRT1 IRE @t 18 yera=t fram = iy
Qe F IR A FERRT A AP I/ APYTIA S/ 82

(1) T8 1.12.2017 | ARY 81 718 A

(2) werE= fram W AR T S & &) gen 8 o URa e | 100% faw
TYOT U7 gl 8

Ans o 1 FHaa2
X 2.13R 23
S5 3 AdM SIRAT 2
75 4. Had 1

Question ID : 6009293767
Status : Not Answered
Chosen Option : --
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Q.4 FaRt 2021 § RIGT B TS GFUI DI ICC (ISR e 0 IH1 & orgarR Fafafaa
fopdpe Y P SraRIE! HH H Hafeyd BIfvg|

A. YRd
B. oitcis
o e
Ans & 1 A B,D,C
o 28AcCD
/5 3.D,BAC

/< 4.D,B,C,A

Question ID : 6009293771
Status : Not Answered
Chosen Option : --

Q5 7 | frd AR AT BISSIM, JUHT F1 e Frgad fasar mn g2
Ans X 1 IqREH derTH!

2. g T

5 3. %79, gHTyaH

X 4.9 Sge

Question ID : 6009293763
Status : Not Answered
Chosen Option : --

Q.6 Which country launched its first ever military communications satellite in July 2020?
Ans X 1 France

X 2. Nepal
x 3. Japan

J 4. South Korea

Question ID : 6009293759
Status : Not Answered
Chosen Option : --
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Ans

T 3o Flaw

T -1 (FeTee) T -2 (M)
A. tadee 1. 9=

B. SAP 2. s

C. ¥aa 3. afdor ifar
D. dzweT 4. FraTa

o 1. A-1,B-2,C-4,D3
/5 2.A1,B-4,C-3,D-2
/< 3.A-4,B-2,C-3,D-1

5 4.A-2,B-1,C-3, D-4

Q7 Er -1 3R g -2 W e Afaw A3 @ & AR i AT 18 (code) 1 IEET FE

Question ID : 6009293770
Status : Answered
Chosen Option : 1

Ans

Q.8 Wing Commander Gajanand Yadava was awarded the 'Tenzing Norgay National

Adventure Award 2019 in:
X 1. Water adventure category

J 2. Air adventure category
x 3. Land adventure category

X 4. Lifetime achievement category

Question ID : 6009293761
Status : Answered
Chosen Option : 2

Q.9
Ans

T § BI- YR &) T a9 faaeh 82
F R

W 2. e sEf
75 3. B Gaesigrel SSfdT
75 4. ST Waed

Question ID : 6009293758
Status : Not Answered
Chosen Option : --

Ans

TS (NSG) FT HeTeRI frgad fomar ur?
v 1. o TR i
5 2. 3o oia
25 3. it I HeATR
/< 4. TaUY. SR

Q.10 3fagav 2019 &, YUTHA Tt 3R[aTS arelt wivsa 3 Frgfa afafer 3 frd wdia wran

Question ID : 6009293764
Status : Answered
Chosen Option : 4
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Ans  off 1. sifoRer s 3g
25 2. ST FHia
75 3. iR IR
5 4. firee e

Q.11 7g 2020 ¥ g fFa AT TR & ASTATH Ty 3R MSTATH TR A AT Foran 412

Question ID : 6009293756
Status : Not Answered
Chosen Option : --

Q12 = - | & & - Il & e fifaw 3k g F @° Re e g2 1 o

FTeh TEl 3ol & I HIST:

T - | (FHE wean) T - |l (77T FI Fren safad /

waifta &3 aren =afFa)

A. 1981 TE.#.3Y. (SCO) TWFR & 1. JuTHAS A%F Ay
wopa # afteg w1 Rrew we

(TH.3.30, FERT HH FIH AHH

TEAHE WIPAT)

B. 7af SRS, AT |2 iy wum

w7 A= (IEF-IGU AR 39

HIH)

C. 1457 T .vA.TA. (ADMM) =5 |® 3. ey oy

e 2020

D. 637 SRI-=T9T T9IE F=pT

4. TH. FHTT ATE

%

@A B C D
1 4 2 3

A B C D
4 2 3 1

©A B C D

@A B C D

Ans X 1c
& 2.d
o 3b
K 4a

Question ID : 6009293773
Status : Not Answered
Chosen Option : --
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Q.13 [ 2019 ® T & i tRiTwie Id Aearge gRT f$y TaaAe (Jenme) 3t T

Ans

P 7S { N1 PR WTa 3R gt & i 1872

< 1.198-59¢
#5 2.198-59d
/5 3.L98-5%

o 4. 19859

Question ID : 6009293760
Status : Not Answered
Chosen Option : --

Ans

List-1 (Name of Government Scheme)

List-2 (Related Ministry)

A. The Venture Capital Assistance
Scheme

1. Ministry Of Electronics &
Information Technology

B. Support for International Patent
Protection in Electronics and &
Information Technology (SIP-EIT)

2. Ministry of Micro Small & Medium
Enterprises

C. Single Point Registration Scheme

3. Ministry of Agriculture and Farmers
Welfare

5 1.A-2,B-3,C-1
/5 2.A-2,B-1,C3
/5 3.A-1,B-2,C3

o 4.A3B-1,C2

Q.14 Match List-1 with list List-2and select the correct answer by using the code given below the list.

Question ID : 6009293772
Status : Answered
Chosen Option : 2

Ans

Q.15 P S F IR A FHRIRT A A PT A/ A PUT AT/ &2

(1) T8 fayfaerea ¥ srwraa & §RM if@d YR faendf uiue (ABVP) & Wew A1
(2) S 2015 ¥ 2018 TP YR TIPR & 4 3R HIGRE ATHA! & {1 F U H BTH

o um|
25 1. Faq2

o 2 Fad 1
X 3.1 9R23A
S 4AqMeRAT 2

Question ID : 6009293766
Status : Not Answered
Chosen Option : --
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Ans

Q.16 21 FasY 2021 Y, AT (NASA) 7 faxmasra Aawdt Wg Fawel & wie! urgn f$ul 9
TR P oy # frafafead # @ $19 91 $Y= Tad 82

1. U8 TR gAC FAEX B ST [RIT auT fiar ARt Fawex g1

2. 3 TN BT ¥ TAd 370 (Abell 370) § 3R SHS! Ugel IR WieT 2002 H ARFT gHTEG

T TN BYP B T A

3. g8 Fovex gt & 4.9 faftrae yeprer-ad oY g8 W Wew (Cetus) aRTHST d fR@A 71

I 3T 71T He T UahT HRP T IR FT 99 PIoe|

(a) Pad 1
(b) Fad 2
(c) 1 3R 2 Y
(d) 2 3% 3 @Y

W ia
x2.c
5 3.d
&4

Question ID : 6009293774
Status : Not Answered
Chosen Option : --

Ans

TEr 3R AT

T -1 P W ATH T -2 IFds @ AR
A. SFEg 1. &

B. = dee Tl 2. =gEar

C. sw9rar =)oT FAT 3. Frermm

D. g wIEaar 4. TS g

o 1.A1,B-2,C-3,D4
5 2.A-1,B-2,C-4,D-3
/< 3.A-2,B-1,C-3,D4

/5 4.A-4,B-2,C-3,D-1

QA7 & -1 R g -2 1 e Ao A g F A R 0 FF (code) F 3T FF

Question ID : 6009293768
Status : Answered
Chosen Option : 1

Ans

Q.18 378 A B 2019 F FATEES AN MR Siex TediPbe REPR 1 T faotar 82

x 1. @sﬁam‘ruﬁw (Seitebatso Pearl Block)

x 2. A3 SRAT ZThT (AichatouOusmanelssaka)

#% 3. 9Rfa1 T$S 1T (Marcia Andrade Braga)
o 4. G A (Suman Gawani)

Question ID : 6009293755
Status : Not Answered
Chosen Option : --
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Q.19 | UTAdT URI&T (Common Eligibility Test) $R14 & frg Fsita wiywsa = gy wdf
TS (National Recruitment Agency) @1 RITIHT B & el &2

Ans 3" 1.01 37Ud 2020
W 2. 19 3T 2020

#% 3,09 s 2020
5 4,019 2020

Question ID : 6009293762
Status : Not Answered
Chosen Option : --

Q.20 379 | I U3 ff RESR | TG 7, R WRa § Y aoie 3 Wil Qe 1 agrar
P F I T & forg S STar 32

Ans 3 1. e T
X 2. gy ¥
o 3. g TEER
75 4. g e Ta.Ta.

Question ID : 6009293757
Status : Not Answered
Chosen Option : --

Section : General studies

Q1 Rarew ¥ gey F AeaRlT sy W RER &Y

1. fearom sa &1 STeEg F SIET F H g Ageaqyl SHST ST g
2. fewrem Tiea afafafaat & R sagea 74 &

3. feareT 9aa gumeh #= Afedr # wT g

4. fgwrerm & #% o TEs A @ B

F9 T 7T FuSt H T FiT G/ T
Ans x1_ 2 .}ﬁ_{_ 3

V2133

X3 q13r4

X 4 Faer 2

Question ID : 6009293789
Status : Answered
Chosen Option : 2

Q.2 fafafeaa & ¥ Py et o1 agfHe W Saani= 82
Ans x1_c

W 2812

/5 3.B3

/S 4D

Question ID : 6009293783
Status : Answered
Chosen Option : 2
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Q.3 Where is the headquarters of Confederation of Indian Industry (Cll) is located?
Ans (" 1 Chennai

75 2. Kolkata

o 3. New Delhi
5 4. Mumbai

Question ID : 6009293779
Status : Answered
Chosen Option : 3

Q4 AR RS weifRae?

Ans & 1 gRTOR

X 2.%6R

W 3. sEEEe

Xag

Question ID : 6009293782
Status : Answered
Chosen Option : 3
Q5 P TITIAT 1964 F YRANT Rerd S 3 i wnfirea arelt werae ot & Fu o
e & e FITEH & dgd &1 1S A1

Ans X' 1§ offth SSIal
o 2. R s faer 3%
25 3. URdg e 3% (T S offp 3feam)
X 4. 9a S offp R

Question ID : 6009293775
Status : Not Answered
Chosen Option : --

Q.6 afearg & Yefiwe & Afcgar fea o1 fmior e sarar ur?
Ans x 1. 3T

o 25T

X 3.%d

X 4.

Question ID : 6009293777
Status : Not Answered
Chosen Option : --
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Q7 swa # =R 3k A6 & ek F PrerRe w9t RE &
1. Fw F By # ASE [ WER # AT HHI0T 5T ¥ § AT AT
2. g TR WA # A S
3. Ffewy Y Sy, aFees AR e ¥ 5o Rl § e it 9w amifee @e e s od g
4. SRR T AT TR F SR O 7 e e e g
FR ffe v FfF ¥ Fua @@
A
®oX e 1R 2
X 2 FHaer 3 3R 4
v, 23R3

K4 Fge 2 3T 3

Question ID : 6009293791
Status : Not Answered
Chosen Option : --

Q.8 o= FEw ik sy ofess & w9y & s s @ fEw w1

1 ¢ 2019 #F waw Pew At R Tty F R 2030 SR F osmems & Shi b we o
2. FEEg TEE F T F ana 1 B R F 39 fee e atee S § #Eg T S
2005-2014 & SHIe e $r Hehel ©le 369 (GDP) # Sederar digar & 21% # & & &9 & Rwdr i

s Re v wE # ¥ S a8 v

Ans X1 Faer 2
X2 e 1
Xagart1aradr2
Vi1 3T 2 gt

Question ID : 6009293786
Status : Not Answered
Chosen Option : --

Q9 ggrzEt a1 Imfer TuEw - Tt F Ay F PrfaflE FvEl w REw

1. I T F Ioo@ AR F FREU F 3[eOT 348 F e
2. 7= e s @En s et F geE sua & gEee g
3. IR & WY F 3geoq 243 D # e F IRE0T F W F 3509 ¢

A T aTT i F ST W FE S I |
A o FEw 2 3R 3

X2 Fae 1

Mo a1 3kt 2

X411, 233

Question ID : 6009293794
Status : Not Answered
Chosen Option : --
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Q.10 YR WU BT P1H-91 3w, F3ee ta sifvard ara Riem siffeam ar Rien &1
PR ARITTT (RTE) & d8d, YRd # 6 A 14 T & =l & forg f4:37ep 3R sif~ard
R1em & AT B EUTHBAT BT qUi HIaT 82

Ans X" 1 3[Twq 35C
5 2. 3BT 198
75 3. STVE 43 A
W 4 aTBE21A

Question ID : 6009293784
Status : Answered
Chosen Option : 4

QM = | i - 1 F Breme S gRE AR R v A a7 39 5 @@ R T

-1 @) |- e e g R
A. fFre 1. JI FEA

B. #=fea 2. 91 Feag

C. gidr 3. Il T

D. efaw 4. Fu 9T

Ans 1 A-4, B-2, C-1, D-3
< 2 A2, B-1, C4, D-3
< 3 A-3, B-2, C-1, D-4
<4 A-1, B-4, C-3, D-2

Question ID : 6009293788
Status : Answered
Chosen Option : 1

Q12 s ey g & SO F S 9 T IS U HgeaqYl Higw Ot
1.1915 & Talr ddc & 3TATLe &7 o &9 & #ise & YR W AEE A @A & G0 o s
F 7= o $r gy #)
2.1916 #, arar MR e & 70 A 39T @R FA AT wetea |
A R T FE F I FE FE Il
Ans X1 Faer 2
X2 Fae 1
Xaigart1aradr2

v 1 3k 2 @

Question ID : 6009293785
Status : Not Answered
Chosen Option : --
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Ans

Q13 figer yaa ¥ "oy § PeAfafEa wuar o T w1

1. 77 v v Iftmee & S s F fBRer g5 & S @ o we g
2. 38 9 JW@ S FHA § ST FE T G UF O O F AT A TH FAL A T FLA g
3. 39 T4 W I AT § FF [T F TH UK G S F FA (FAr) F I F

F9T BT 7T FuE # ¥ FF WS w9 887
X Fae 1

X2 Faa 3

X3 Fae 2

Vi1, 233

Question ID : 6009293787
Status : Not Answered
Chosen Option : --

Ans

Q14 - | 3 - 1l F e Y gt & S Re e #E @ s = wE s oo

-1 g |- e
A. FE-HTgaT 1. Fegur

B. gRwramer | 2. Regor

C. Teiefvi 3. 3rgen

D. fFaERaala | 4. AR

X 1. A-3, B-2, C-1, D4
v 2 A-4, B-3, C-1, D-2
X3 A2, B-1, C-4, D-3
X4 A-4, B-2, C-1, D-3

Question ID : 6009293790
Status : Answered
Chosen Option : 2

Q.15

Ans

Which of the following is a human factor responsible for soil erosion?

1. Deforestation
2. Run off water
3. Overgrazing

4. Glacial erosion

Select the correct answer using the codes given below.

v ' 1land3
/<2 2and3
/X 3. 2 only
/< 4. 1 only

Question ID : 6009293793
Status : Not Answered
Chosen Option : --




2/24/2021

1§ 3R S el AT ST 87
Ans x 1.§rﬁg\ryn,maﬂm
25 2. faerft A, aftraerg
£5 3. T AL, BTG
f 4 S TEEa, sifgn

Q.16 g5 g5 W ify B 31 o &) Faftd o33 & g anxfa siv &1 AR 81 AR o199

Question ID : 6009293780
Status : Not Answered
Chosen Option : --

Q.17 g uda 99, yer F wry-ary 5w yRd 59 § fRa 82
Ans  of 1 fifdsH

5 2. 3H

25 3. 3T Uem

X 4. TR

Question ID : 6009293781
Status : Not Answered
Chosen Option : --

Q.18 Pmfafla § & o1 @ frare aR.%. TRE0 gRT 78 Rt 7€ f2
Ans X 1.7 dR off Wiew

72X 2. @ ts W

o 3. ey faeg

25 4. T USRS ATeS

Question ID : 6009293776
Status : Not Answered
Chosen Option : --

Q.19 f5a WY & WIGT &) AHRIG: TS HgT J1dT 872
Ans X 1 BRI

/< 2. s

W 3. oS

p R Eie

Question ID : 6009293778
Status : Answered
Chosen Option : 3
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Q.20 What can be the effects of noise pollution on human health?

Damage to the ear and temporary or permanent hearing loss often called 'a temporary threshold shift'
Irritability, anxiety and stress

Lowered worker efficiency and productivity

Loss of vision

e

Select the correct answer using the codes given below.

Ans o 1. 1,2 and 3 only
752 1,2, 3and 4
/%< 3. 3 and 4 only
/< 4 1 and 2 only

Question ID : 6009293792
Status : Answered
Chosen Option : 1

Section : Numerical aptitude

Q1 9§ YAqH HHT DIt ¥ BT HLT B A 3 B 7, 9 3R 11 | v v W, 1as
fRufa & Auwa 2 g9ar 32

Ans & 1,600
o 2695
75 3.750
75 4,693

Question ID : 6009293809
Status : Answered
Chosen Option : 2

Q2 ue 31 da &1 Ul ygia &we 207 A2 g1 afe Sua Brur 3.5 ¥t @, oY 591
ST fra 82

Ans 5 1 451 T
25 2. 363 T
5 3,418 9
of 4 3853

Question ID : 6009293807
Status : Answered
Chosen Option : 4

Q.3 gl & ¥ o9 91 $Y=T ag 82

1. T 19 YRT & 3Ed 6 9 A Tad! 7 30 famft| afe 95 o1 & ufage 10 9 # 40 fft
Terd! 8, d) YRT B T 1 fPHEer {1

I1. T YETIS] Pt T3aTs 1200 HieR §1 AfE 98 TH 1500 Hex 7@ Wewid &I 120 AHvs A
IR $R bl §, dY Yol $t i 90 foreireer g1

Ans  off 1IN
25 2 1T a
X 3. Fad
5 4.5

Question ID : 6009293806
Status : Answered

Chosen Option : 1

13/32



2/24/2021

Q.4 fmfifEd aiftreT &1 wryd® sreag FIRT iR ITP a6 13T ¢ 0y o1 SwR S|
fafir o) # fpet ug & I To AP R | e $e- aral enaffal $t wem ok 58

qhd g ard el o1 ufawrd|
d% | Iuftzar fit sufeafs | o oefleast w1 %
H 1500 14
| 2200 26
J 3000 17
K 980 20
I 1200 28
M | 2500 21
S K & T 9%d 8 311 ara SHIGaR] &) T@TT, 9% | % e 9% 18 311 ara
IHieaR) &) @ &1 ford=m uforra o1 2
Ans X" 1 44
52,42
of 348
5 4.51

Question ID : 6009293804

Status : Not Answered

Chosen Option : --
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Q.5 & 7S afere ey e auf A faf wwe-t g1 FAgea wdfval @t e i gxifar 1

HITBT

2007 | 92 102 | 84 | 100 [ 95 98

2008 | 104 | 107 | 94 | 99 96 | 105

2000 | 96 | 119 | 93 | 102 | 98 | 103

2010 | 101 | 100 | 86 | S8 97 107

2011 85 117 | 84 | 103 | 102 | 99

2012 | 88 o7 | 89 | 100 | 103 | 102

WS P gRT frgad g e seaial 9t $o S o1 AT SuTd 7T 82
Ans X" 1. 198: 208
% 2.208: 198
75 3.189: 209

o 4.209: 189

T 2010 3R 2012 H WS U gRT e 6T g wHamival @t oo wEn ok 561 aul &

Question ID : 6009293800
Status : Answered
Chosen Option : 4

Q.6 frafifad & A fred ge ufwm siftreaw gihfte
Ans X" 1. 3ifdd Hed = 3200, sy 1 = 2800

25 2. 3ifd I = 4000, fasra T4 = 3600
o 3. 3ifSd g = 2400, fasha 7T = 2000
5 4. 3ifpd e = 2800, facha T4 = 2400

Question ID : 6009293805
Status : Answered
Chosen Option : 3

Q7 Fufif@d & #190.12 ¥ A Ty o) qufar 22
Ans X' 1.3/50

75 2.3/100

W 3.325

25 4.12/120

Question ID : 6009293812
Status : Answered
Chosen Option : 3
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Q.8 33, 4 Art 3R 5 et A ard FiF S Ml B fraar w7 T S Mar g9 9, @
gt eara A fran ufasma &t st smrfie

Ans " 1. 12 gfaRid
o 2. 28 vfomra
25 3. 14 vfo=ia
5 4. 16 foRia

Question ID : 6009293799
Status : Answered
Chosen Option : 2

Q9 TP IR TS THUM W TS IATE 3941 31 IS I8 Iag & g e # 5 ufawra ot
HH FA1 8, A BT THAM 4 ARG 9¢ 1T 3| fH THAH R I8 0T IS J°ar
272 (@ 3- e Adean T 9@ uifferd §)
Ans X" 1. 40 UfaRid
5 2. 35 Tfomid
o 3.55.55 yfa=rd

75 4.63.63 Ufo=Id

Question ID : 6009293803
Status : Not Answered
Chosen Option : --

Q.10 TP THem &, P Q & 20% 3P 3 U f$T, Q 7 R A 20% HH 3/ U fPT IR RAS
j&g%arfﬁmsimm%muﬁpﬁsooﬁﬁmOWumﬁmtﬁ,?ﬁs%aiﬁm
I

Ans  of 1 400
/5 2,425
75 3.520
5 4.450

Question ID : 6009293798
Status : Answered
Chosen Option : 1

Q.11 < & FrAa & 10% 6 F FoT #1E =wfFa T 300 # 5 kg 30w @& @lie "@war ¥ 9y kg 9=
& Fra F g w7

Ans  of 1. F6.00
X23575
X3 %650
X4 T525

Question ID : 6009293796
Status : Answered
Chosen Option : 1
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Q.12 T® gid 10 HieX oaT, 2.5 HieX S 3R 4 Hiex i1 & RBrd 1.5 fiet x 1 fix d1 T
&Sl 3R 1 #ieR x 0.50 Hiex @ 3 fEsfhai 81 12 =0l ufd of Hiey Ft @ A far 8k
B B TS B B AR [T Do |

Ans  of 1 1200 =TT
/X 21330 TR
25 3. 1190 0
25 41230 F @

Question ID : 6009293813

Status : Not Attempted and
" Marked For Review

Chosen Option : --

Q.13 gfg S YIS HBI3H F T BT 3TUT 5 : 7 & 3R IThT YUHEH 560 1 ITH § BT
@ Guifl

Ans  of 1 20
/< 2. 14
/5 3.28
5410

Question ID : 6009293795
Status : Answered
Chosen Option : 1

Q.14 3fg T 7 A 5 4 BT o aral 8 Mg, 12 A AT s M aa &, A Tw e H 4
e BT B arad 15 el fFpad i A s mav? sAd s it oo e &
PRI A FTH HA 81

Ans &1 123
215
S 3.42f
4 8fA

Question ID : 6009293797
Status : Answered
Chosen Option : 4
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Q.15 ) fear g gu-aw el 3= & fpadt e o & fafte Qe W gu @ &t qufar @ |
ITH HI A T ST TUT TP 916 AT 7T 0y &1 3« i

Mew B e TPt W - ufamra siftre @ gane
Ans X" 1 27 gfaRid

25 2. 37,5 foRI
/< 3.35 U=
o 4. 75 vfomra

Question ID : 6009293814
Status : Answered
Chosen Option : 4

Q.16 Tg fed UAT WIS A9 & foe U gled # M1 390 | Ui 7 3u=-3rq_ Hiwd W ufa
fdd 15 30 @Y [T 3R B3 7 Tt ©g aafdal & i T 3t gan & 8 30 3t
T w1 7% gR1 @ foman wan pa o= fovamm a2

Ans X' 1.953%00
2. 11740
5 3.101.2%0
o 4.99.6 30

Question ID : 6009293801
Status : Answered
Chosen Option : 4

Q.17 HIfgH A T goiv 313 50 FUY & WIS 3R 37 26 U= ATH W 3971 Yd® 34S &7 faspa
T T 872
Ans X 1. 10 ¥UT

/X 2.5%uT
o 3.525%7C
5 44300

Question ID : 6009293808
Status : Answered
Chosen Option : 3
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Q.18 g2 10 ufa=ra affer saTer % W rffa AreRor saTer, 5 99 & 3/d o 1000 $UC &, &Y gaAu=
1 g1 T1gu?

Ans  off 1 2000 %TT
£5 2.2500 T
£% 3.1000 %Y
£% 4.1500 3T

Question ID : 6009293810
Status : Answered
Chosen Option : 1

Q.19 3iwifer 3R g U udien & SufRua g1 swifer A Rg A 20 siw 4f¥re e fpg ok 3O
3 I9 Gl & P! & T BT 70 Ufawrd A1 3iwifer A fram 3w wre fpu?

Ans X" 1 15
W 235
5 3.20
< 4.50

Question ID : 6009293811
Status : Answered
Chosen Option : 2

Q.20 T 3wt 18 frfiAT AR A 5 W AN PR N gl waRaT 81 AR T W g Y 3
e W 7 1 18T §, al 3t i 7fy Jra Fw

Ans X" 136 fpfider
W 2. 30 forefireeT
5 3. 54 fprfirder
75 4. 24 fprfirder

Question ID : 6009293802
Status : Answered
Chosen Option : 2

Section : Reasoning Logical aptitude

Q.1 i SMILE Y 19-13-9-12-5 F TU A Fea &1 14T 7, @t LAUGH ! fhd U & Heas
far w2

Ans X" 1 12.1-21.7-9
/X 2.13-1-20-7-8
of 31212178
25 4.13-1-22-7-9

Question ID : 6009293822
Status : Answered
Chosen Option : 3
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Q.2 3I9 3rpf o1 997 B ot Frafifaa g # srrer R w st
o A

B

v
&2

&3

SEP

Question ID : 6009293825
Status : Answered
Chosen Option : 1
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Q3 ﬁ@;ﬁﬁmwimwé,ﬁﬁﬂvﬁwmﬁﬂimmm

KN

Z
AV 4

N
Z

AN

Ans

K U

Question ID : 6009293817
Status : Answered
Chosen Option : 3

Q.4 T T A #Y S0 wH | FafRd B¢ o 8 & 3 Agd i § §a F

1.MALISM
2.MAINED
3.MALAX
4.MARION
5.MANCES

Ans " 113524
75212354
o 3.23154
5432145

Question ID : 6009293820
Status : Answered
Chosen Option : 3
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Q5 ABCDEFiRGamsmaarerdmt i Baeratarasr A CH A B 3
AFrzEr D | B Fr A/l (sisterinlaw) EF ER A FH FF Rar g & 6 & =77,
“H AU ShetdT SIS (niece) F &% T H 43071 I G F I ATE-gEA 74T &, AT I
Fas i & 919 = @

Ans 1O
X2F
X3 D
KA

Question ID : 6009293833
Status : Not Answered
Chosen Option : --

Q.6 i3 fou T uy H O FYF R 3P a1¢ 39 FYI W MuUTRd $ FAewpd fgy e §1 few
T HYAI B TG AA, HA € S AR FY | 71 a) A i adfid gha gt a9i e v
3R = Frufa #3 fr fRe T #1 | fsed, fow 1T Fy=t &1 SR &34 €1

DY
L3S WP, x T8I
I.®s fiR, PSRl

. : I
:l.%,gs‘x%ﬂpx, RTE B

Ans B 1. Had FTSHY I STERU AT §
W 2. Faa FIp | SERT AT R
25 3. Foreped | T 11 Y TR el B
75 4. 1 ot e e e R B

Question ID : 6009293818
Status : Answered
Chosen Option : 2

Q.7 Flowers'is related to 'Bouquet’ in the same way 'Cattle’ is related to '
Ans & 1 Cow

x 2. Swarm
x 3. Gang
W 4. Herd

Question ID : 6009293815
Status : Answered
Chosen Option : 4
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Q.8 o FoTe F FATT AT FIF F FFER A AT FE T Y| AP (X) 37 0 B o E Ew
HS 7T FESH T FET T E| FF S IF I AFE (X) F AN T T T SEE TEE G
TRt 8l

|

Ans

X
®
®

X
©
©

°
2
©

X
@
@ Qe ol o ©

©

Question ID : 6009293834
Status : Answered
Chosen Option : 3

Q.9 fFofafEd saa § g e 7d a3
VYB, SVY, , MPS
Ans  of 1 psv

5 2.TRS
5 3.8TU
25 4.NOT

Question ID : 6009293832
Status : Answered
Chosen Option : 1
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Q.10 T 747 3 IRW I BT B WWAT 1 STaT 8 W BAgH, S8 iR fge 9 fafir
e Hifsar o1 Sua #wd €1 fFa o1 a1 9 Bag® a1 fgew a1 Sl &1 IUTRT Hd &,
T SR ST STANT T Hed 82

Ans X 1,240

o 2. 198
/5 3.300
5 4.250

Question ID : 6009293823
Status : Answered
Chosen Option : 2

Q.11 = oy g wefieur &1 T U @ 9E IR & Rig e &) el $1 R geanr
7-3+?;sx4+2=25
Ans X 1+ 3iR-
Jz.x\’:ﬁT—
X 3. x 3R+
4 xR -

Question ID : 6009293830
Status : Answered
Chosen Option : 2

Q.12 T 3w H far ma g, e @ v ug e 71 AT e st # 9 39 ed ug 31 gfiwl

82, 164, 492, 2450, 17220
Ans  of 1 2450

25 2,492
75 3.164
5 4.17220

Question ID : 6009293826
Status : Answered
Chosen Option : 1
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Q.13 gy § 9 oy fod M & oo a1¢ & freep 1 3R 11 2T 7w &1 foT 7T syl & weg A
B, YA € 3 qrHT=aa: §1d at § s vl 819 g, smuwt fofg s @ 6 g e
ﬁwﬁﬁﬁaﬁq@rﬁw& gfe 13 g, FY BT TRV FA F

DY:

PO YE, a3
ﬁ%m uER TE B
IS gas, Ui 81 31

s
. PO 9ig, A &
II. T SIUER, a5 §

Ans X" 1. Fad fISHY | SITERUI BT §
o 2.7 e | 7 € e 11 srERuT A €
75 3. baa ey |1 SFgERu Bl §
75 4. g P | A 11 SRR RaT §

Question ID : 6009293827
Status : Answered
Chosen Option : 2

Q.14 I HrAfad $ UG | TS UgdT Afds TieraT & 91¢ ugdn| iy srafay & 39 3 uga
mﬁ%ﬁw%mﬁuﬁaﬁ%mwlm%?mmu@aﬁ%mmm
FrAtey US| WEH Ugd FRfad $iH Ugd?

Ans  of 1 dm

X 2.5
25 3.
25 4. sqfer

Question ID : 6009293821
Status : Answered
Chosen Option : 1

Q.15 fHfafad sier J@ar o R HL:
HDF, GEE, FFD, EGC,
Ans  of 1 DHB

/< 2.DHC
/5 3.FHB
/5 4.FFB

Question ID : 6009293819
Status : Answered

Chosen Option : 1

Q.16 I UG BT 99 3, St FHufafaa aar & SrTa AT U M|

P6Q,Q18T,R42W, S78Z, ?
Ans X" 1 P136U

o 2. T126C
/5 3.T128U
75 4. F121E

Question ID : 6009293816
Status : Answered
Chosen Option : 2
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Q.17 IR Srpfaal & for w1 Y vy oropfa A AT g R 4 g0 v & SMUR W =1} = =

AR

ain
X |O|&®|K
L]

Ans O
.8 5 0
X
52
L]
OJX
53
&
L7

v @
O

Question ID : 6009293824
Status : Answered
Chosen Option : 4

Q.18 ) R}y 7T uy § $© FU 3R ITF ¢ I FYAI W nutha $© FHepd g 1w §1 fiw
T HYA B T A §Y, HA § 3 [T Jid a A Fua welita 1 81 maht fred o
%f%ﬁﬁﬁhaaﬁﬁ?ﬁqwﬁqﬁﬁw&,ﬁqwﬁﬁmmﬁmwﬁm

|

DY
L X, Y&l
naE Wz xad el

e
LB X, Z8 B
L.FBY,Z T8 8l

Ans 3 1 F1g 1 e SR e e §
5 2. Faq (Y | SR AT &
75 3. Fad e 11 SR R ¥
W 4. Freemed |t 1 ST SR R @

Question ID : 6009293831
Status : Answered
Chosen Option : 4
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Q.19 fRE, FTRT, TR, AT 3R AT TH S TR A3 § 1 HTORT T & gIfg iR 38 R, <t fp
et BR W T8 Fo1 § 1 dar St o 3R Afea & fiw o 3 31 S Twew w1 iR
I3V & | PHERT S 1S R BT 8?2

Ans X 1
25 2. dar
X 3.3
VeSS

Question ID : 6009293828
Status : Answered
Chosen Option : 4

Q.20 Y} RyeP wEd &1 79 BT Ryt HigT A U IR WU A WM & | N ST RIFB1 9 F
e § Ut fobrg a1 & e A go1 21 IR BT RygepT Aigs & fygd YA g, o
T4 YR Riah o1 A1fere B 82

Ans x1_qﬁm
2.
K3
v Ry

Question ID : 6009293829
Status : Answered
Chosen Option : 4

Section : English

Q.1 Find the part of the given sentence that has an error in it. If there is no error, choose
‘No error’.

Neither my sister (1)/ and my brother is (2)/ interested in this project. (3)/ No error (4)
Ans X" 1. interested in this project

x 2. Neither my sister

J 3. and my brother is

x 4. No error

Question ID : 6009293838
Status : Answered
Chosen Option : 3
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Q.2 In the following question, there are six sentences marked S1, S6, P, Q, R, S. The
positions of S1 and S6 are fixed. You are required to choose one of the four
alternatives which would be the most logical sequence of the sentence in the passage.

S1. Visual recognition involves storing and retrieving of memories.

P. Psychologists of the Gastalt school maintain that objects are recognized as a whole
in a parallel procedure.

Q. Neural activity, triggered by the eye, forms an image in the brain’s memory system
that constitutes an internal representation on the viewed object.

R. Controversy surrounds the question of whether recognition is a single one-step
procedure or a serial step-by-step one.

S. When an object is encountered again, it is matched with its internal recognition and
thereby recognized.

S6. The internal representation is matched with the retinal image in single operation.

Ans X 1 SRPQ

/5 2.QsRP

W 3.RPQS

/< 4.SQPR

Question ID : 6009293845

Status : Not Answered

Chosen Option : --

Q.3 The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option ‘No Error'.

Ans x 1. No error

x 2. Cadets applying for the Indian navy
x 3. must go through several

( 4. examination, interviews, and medical tests.

Question ID : 6009293835

Status : Answered

Chosen Option : 4

Q.4 Select the most appropriate antonym of the given word.

IMPERTURBABLE
Ans x 1. floral

x 2. halcyon
« 3. excitable
x 4. stoical

Question ID : 6009293851

Status : Not Answered

Chosen Option : --

Q.5 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no correction
required’ if the sentence is correct as given.

He did exceptionally well in his exams (because he had tutored all week).

Ans " 1. No correction required
x 2. as he had been tutoring all week
x 3. as he had tutored all week

« 4. as he had been tutored all week

Question ID : 6009293839

Status : Answered

Chosen Option : 3
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Q.6 Identify the segment in the sentence which contains a grammatical error.

Going by the number of people present, it was appearing that the seminar was a huge
success.

Ans 3" 1_that the seminar
X 2. was a huge success.
X 3. Going by the number of people present,

J 4. it was appearing

Question ID : 6009293836
Status : Answered
Chosen Option : 3

Q.7 Select the word that is closest in meaning (SYNONYM) to the word given below.
Vilification
Ans x 1. Assertion
J 2. Aspersion
X 3. Variation

X 4. Rectification

Question ID : 6009293854

. Not Attempted and
" Marked For Review

Chosen Option : --

Status

Q.8 Fill in the blank with the appropriate word.

They were fortunate enough to get a look at the mansion from the
inside in the poshest area of the city.

Ans J 1. opulent

X 2. indolent

X 3. benevolent

X 4. insolent

Question ID : 6009293846
Status : Answered
Chosen Option : 1

Q.9 The sentence below has four parts (A, B, C, and D). One part has a grammatical error.
Identify the part.

The same set of the facts (A)/ can be tailored (B)/ to fit any (C)/ preconceived belief. (D)
Ans X" 1 can be tailored

X 2. to fit any

J 3. The same set of the facts

X 4. preconceived belief

Question ID : 6009293837
Status : Not Answered
Chosen Option : --
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Q.10 Select the most appropriate option to substitute the underlined segment in the given
sentence. In case no substitution is needed, select 'No substitution required'.

There are some people who think they are God’s gift to mankind.

Ans x 1. whose thinking is that they were
X 2. which think they must have been
#% 3. that think they had been

J 4. No substitution required

Question ID : 6009293840
Status : Answered
Chosen Option : 4

Q.11 Select the most appropriate meaning of the given idiom.

"Loaves and fish"

Ans x 1. To act in a frenzied manner
x 2. To get someone drunk

X 3. Main support

J 4. Material interests

Question ID : 6009293849
Status : Answered
Chosen Option : 3

Q.12 Select the word that is closest in meaning (SYNONYM) to the word given below.

Banish
Ans  of 1 Deport

X 2. Accept
/5 3. Perish
X 4. Persist

Question ID : 6009293848
Status : Not Answered
Chosen Option : --

Q.13 Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. reacted collectively to nip this in the bud

B. that are far more stringent than

C. what we could have gotten away with had the world
D. today, we will need social isolation methods

Ans " 1 DCBA
/5 2.DACB
/5 3.DBAC

+ 4.0BCA

Question ID : 6009293844
Status : Answered
Chosen Option : 4
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Ans

with the correct spelling.
J 1. Irreverence

x 2. Irrevarance
x 3. Irreverance

x 4. Irrevarence

Q.14 Four words are given, out of which only one word is spelt correctly. Choose the word

Question ID : 6009293853
Status : Answered
Chosen Option : 3

Ans

A. that have seen a surge in interest in
B. is that of online education

C. one of the few pursuits

D. these otherwise trying times

/5 1.CBAD
W 2.caDB
/5 3.cABD
/5 4.CBDA

Q.15 Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

Question ID : 6009293843
Status : Answered
Chosen Option : 1

Q.16

Ans

Fill in the blank with the appropriate word.

Women have constantly been
driven society.

/< 1. arbitrated
5 2. liberated

J 3. relegated

x 4. serrated

to secondary positions in this men

Question ID : 6009293841
Status : Answered
Chosen Option : 1

Ans

Q.17 Select the word segment that substitutes (replaces) the bracketed word segment

correctly and completes the sentence meaningfully. Select the option 'no correction

required' if the sentence is correct as given.

(No sooner did we arrived) at the airport than we got into an argument with the cab

driver.

x 1. No correction required
x 2. No sooner had we arrive
( 3. No sooner did we arrive

x 4. No sooner than we arrived

Question ID : 6009293842
Status : Answered
Chosen Option : 3
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Q.18 Four words are given, out of which only one word is spelt correctly. Choose the word
with the correct spelling.

Ans 3" 1. Impudane
J 2. Impudent
X 3. Impuden
x 4. Impudant

Question ID : 6009293852
Status : Answered
Chosen Option : 2

Q.19 Select the most appropriate ‘'one word ' for the expressions given below.

Marriage outside one's tribe
Ans X" 1. Endogamy

X 2. Polygamy
( 3. Exogamy

x 4. Autogamy

Question ID : 6009293850
Status : Answered
Chosen Option : 3

Q.20 Choose the word that means the same as the given word.

Alien
Ans J 1. Foreign

75 2. Native
X 3. Local
x 4. Basic

Question ID : 6009293847
Status : Answered
Chosen Option : 1
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